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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech I Year | Semester Supplementary Examinations July-2022
MATHEMATICS -1
(Common to All Branches)
Time: 3 hours Max. Marks: 60
PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)

1. (a) [1 2 ll L1l 2M
Find the rank of the matrixA=|-1 0 2
2 1 =3
(b) Define Gamma and Beta functions. L1 2M
(©) E\-'aluatez—l:. where u = x2y3 and x = logt,y = et 3 2M
(d) State D' Alembert’s ratio test for convergence of a series [2 2M
(e) If f(x) = |sinx| in [=m, 7], then find the Fourier constant a, 3 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. [8 -8 2 L4 10M
Verify the Cayley-Hamilton theorem for the matrix A = (4 -3 —2}
3 -4 1
OR
& [—2 2 —3} L3 10M
Find the Eigen values & Eigen vectors of the matrix A = | 2 1 -6
-1 -2 0
UNIT - II
4. Find the surface area of the sphere of radius ‘a’. L1 10M
OR
5. Verify Lagrange’s mean value theorem for f(x) = x3 — x? — 5x + 3 in the interval [0, 4] L4 10M
UNIT - 111
6. Examine the function f(x,y)=x*+y*—2x?+4xy—2y% x>0,y >0 for extreme L2 10M
values.
OR
7. Find the angle between the surfaces x2 + y? +z%2 = 9and z = x? + y? — 3at the point (2, -1,2) L3 10M
UNIT -1V
8. Testthe convergence of the series Y {(n;ixﬂ} L2 1M
OR
9. Discuss the nature of the series (a). Y. {% tan Tll} (b). > {log (1 + %)} L4 10M
UNIT-V
10. Expand f(x) = (m — x)? as a Fourier series in 0 < x < 27 L3 10M
OR

11. Expand f(x) = x? as Fourier half range sine seriesin0 <x < 4 L5 10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech I Year I Semester Supplementary Examinations July 2022
CHEMISTRY
(Common to ECE & CSE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
Write the Schrodinger wave equation.
Define entropy.
What is meant by break point chlorination?
What is substitution reaction? Give an example.
Write the selection rules of spectral analysis.
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Write the silent features of crystal field theory. Explain the d-orbital’s splitting
in octahedral and tetrahedral complexes.
OR
What is effective nuclear charge? Explain the variations of s, p., d and f orbital
energies of atoms in periodic table.
Explain the molecular orbital theory with suitable diatomic molecule.
UNIT - II
Derive the Nernst equation. Apply the Nernst equation for an electro chemical
cell.
OR
Define corrosion. Describe the factors affecting the corrosion rate.

UNIT - III
What is meant by hardness of water? Explain the estimation of hardness by
EDTA method.
OR
Write short note on sludge’s and scales.
Define desalination of water. Explain the desalination of brackish water by
Teverse Osmosis.
UNIT -1V
Explain the synthesis of paracetamol and penicillin.
OR
Write the preparation, properties and engineering applications of Bakelite.
UNIT-V
Explain the principle and applications of UV-Vissible spectroscopy.
Explain the applications of fluorescence in medicine.
OR
Explain the principle and applications of infrared spectroscopy.
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Q.P. Code: 19HS0850 R19
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech I Year I Semester Supplementary Examinations July-2022
ADVANCED PHYSICS
(ME)
Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5 x 12 = 60 Marks)

Derive the condition for bright and dark fringes through the interference in thin L3
films by reflection?
OR
a) What is diffraction grating how diffraction grating constructed? 13
b) Draw intensity distribution curves and give condition for bright and dark fringes in L5

single slit diffraction pattern
UNIT-II

a) What is the importance of acoustics in engineering 2

b) How we optimize the reverberation time in the music halls? LA
OR

a) Give the important applications of ultrasonic waves? L3

b) How will you classify sound waves based on their frequencies? L1

a) Define i) magnetic moment and ii) magnetic susceptibility L3

b) Explain the origin of magnetic moments. L2
OR

a) What are dielectric materials? And explain their properties? L1

b) Define i. dipole moment ii. Polarization L3

a) Describe the important characteristic of laser beam? L2

b) Explain the difference between spontaneous and stimulated emission of radiation L2
OR

a) What is the acceptance angle of an optical fibre and derive an expression for it. L3

b) What are the applications of fiber optics? 11

a) What is Quantum Confinement? L1

b) Write the applications of nanomaterial? L2
OR

a) Write brief note on biomedical applicatins of nanomaterials? L2

b) What is the future scope of nanomaterials? 7]

12M

8M
4M

6M

6M

6M
6M

4M
8M

™
5M
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6M

6M
6M
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Q.P. Code: 19HS0801 R19

a)

b)

2)
b)

Time: 3 Hours

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech I Year I Semester Supplementary Examinations July-2022

APPLIED CHEMISTRY
(Common to EEE & ECE)

Answer one question from each unit (5 x 12 = 60 Marks)

Define Electrode Potential. Derive the Nernst equation for a single electrode
potential and write its applications.

OR
Define electrochemical sensor. Draw the neat sketch of electrochemical
sensor and explain its construction, working principle and applications.

(GNEET

Draw the molecular orbital diagrams of Oxygen molecule (O2) and Nitrogen
molecule (N2 ). Explain their magnetic nature and bond order.

OR
Explain the application of ¥ and ¥2 to hydrogen atom.
Write the postulates of molecular orbital theory.

NIT-II
Explain the mechanism of Addition polymerization
OR
Write the preparation, properties and application of Buna-S rubber and Buna-

N rubber

Define PH ? Write principle and application of PH metry
OR
Which methods are you using to separate from the Gaseous Mixtures?

Write a note on Liquid Insulating Materials
Write the Properties of Nanomaterials.
OR
Write a note on Super Capacitors.
Write a note on Liquid Insulating Materials

Max. Marks: 60

L1
L2

LY

L3

L2
L2

L2
L2

12M

12M

12M

6M
6M

12M

12M
6M
6M

6M
6M




28]

-

~{

10

Q.P. Code: 19CS0501 R19
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech I Year I Semester Supplementary Examinations July-2022
PYTHON PROGRAMMING

(Common to ECE & CSE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

[UNIT-1
Explain about the input and output statements or methods with example. L2
OR
Explain briefly about the Multi-Valued Data types with example. L2
a) Write a Python program to print prime number series up to N. L4
b) Write a Python program to Swapping of two numbers with and without using L4
temporary variable.
OR
Explain expressions in python with order of evaluation with example. L2
NIT-III
a) Write about class constructor(_init_()),self-variable L4
b) Compare method overloading and overriding L3
OR
What is inheritance? Illustrate types of inheritance with python code L1, L2
What is an Exception? Explain types of exceptions and give an example L2
OR
a) Describe any one regular expression with an example? L3
b) Explain package installation via PIP L2
a) What is mean by Iterators and Generators? L1
b) Write about map and filter in Python? L3
OR

Explain about Mathematics function in python L2

12M

12M

6M
6M

12M

5M
7™M

12M

12M
6M

6M

6M
6M

12M
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Q.P. Code: 18HS0803 R18

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester Supplementary Examinations July-2022
BIOLOGY FOR ENGINEERS
(ECE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
Answer the following; (5 X 2= 10 Marks)

1. (a) Whatare the three domines(kingdoms) of life? L2 2M
(b) Whatis cell cycle? L2 2M
(c) Write any four functions of proteins 4 2M
(d) Write full form of M-RNA& TRNA & their functions 14 2M
(e) Define stem cells & their functions L3 2M
PART-B :
(Answer all five units, 5 X 10 =50 Marks)
UNIT -1
g What are Model organisms? Give brief notes n any three model organisms. L2 10M
OR
3. Draw labeled diagram of Animal cell as seen in Electron microscope. L5 10M
Comment on characteristics of Animal cell.
UNIT - 11
4. Explain Meiosis with diagrammatic representation . L2 10M
OR
B Define Genetics and explain Dihybride cross. L3 10M
UNIT - III
6. Biological classification of amino acids and their importance. L4 10M
OR
7. Describe the enzyme action and kinetics? 2 10M
UNIT -1V
8. Explain & Describe the R-DNA technology methods L2 10M
OR
9. What are the functions & Structure of Proteins? L2 10M
UNIT -V
10. Explain identification and classification of microorganisms. L2 10M
OR

11. Define exothermic and endothermic reactions. 13 10M
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Q.P. Code: 18CS0504

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester (R18) Supplementary Examinations July-2022
DATA STRUCUTURES & ALGORITHMS
(CSE)

PART-A
(Compulsory Questions)
Answer the following; (5 X2 =10 Marks)
(a) State the difference between stacks and linked lists?
(b) Write the postfix and prefix notations for the following expression:
A/B*C-D*E+F/G
(c) State the properties of a Binary Tree?
(d) Define BFS with an example.
(e) Define sorting and its types?
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
What is a double linked list? Name the three fields of double linked list?
OR
Explain how to create circular linked list and insert nodes at end
UNIT - 11
What is a queue? What are various operations that can be performed on them? Explain
with an example
OR
Write a program to perform basic operations on stack
UNIT - 111
Explain the various operations on a Binary tree with an example?

OR
Construct a binary search tree from the given values. Consider the first value as the
root value. Values: 45, 23,29,85,92,7,11, 35,49, 51
UNIT - IV
Write and explain Dijkstra algorithm for finding shortest path. Give an example
OR
a) Compare binary search and linear search techniques.
b) Find the number 77 from the following set of numbers using binary search: 6, 12,17,
23, 38, 45, 77, 84, 90.
UNIT -V
Explain about bubble sort with algorithm
OR
State and explain algorithm to perform Heap sort? Sort the following numbers using
heap sort: 47, 32, 15, 38, 55,17, 25, 45, 42 and 50.

L2
L1

L1
L1
L1

L2

2

L2

L3

Max.Marks: 60
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2M
2M
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Q.P. Code: 18HS0834

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester Supplementary Examinations July-2022
Mathematics - I1I
(ECE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)

g

1. (a) Write the formula for Simpson’s 3/8" rule of numerical integration. 2 2M
(b) Define the diagonal five-point formula. L1 2M
(¢) Evaluate the Laplace transform of f(t) = 3 cos 3t. cos 4t L4 2M
(d) Define the inverse Fourier sine and inverse Fourier cosine transforms L1 2M
(e) Solve the partial differential equation 7 + 65 + 9t = 0 L3 2M
PART-B
(Answer all five units, 5 X 10 =50 Marks)
UNIT -1
2, Predict a real root of the equation xe* — cos x = 0 using Newton-Raphson method L2 10M
OR

a2

Predict f(32) by using Newton’s backward interpolation from the values f(25)= L2 10M
0.2707, f(30) = 0.302, f(35) = 0.3386, f(40) = 0.3794

UNIT-1I
4, Estimate y(0.1), ¥(0.2) from the differential equation y' = x + y, y(0)=1 using L5 10M
Euler’'s method.
OR
5. Estimate the values of u(x,y) from the Laplace equation V2u =0 at the pivotal L5 10M

points with boundary conditions u(0,y) =0, u(4,y)=12+y for 0<y < 4 and
u(x,0) = 3x,u(x,4) =x?for0 S x < 4bytaking h=1,k =1

UNIT -1I1II
6. . -1 f_3s=2 o L4 10M
Evaluate (a). L {sz -4s+20]’ (b). L {2 log (52+b3)}
OR
7. Solve the differential equation x''(t) +9x(t) =sint, x(0) =1, x (g) =1 using L4 10M
Laplace transform technique.
UNIT -1V
-ax
8. Find the Fourier sine and cosine transforms of f(x) = eT L1 10M
OR
9. Find the Fourier transform of f(x) = e~(¥’/2) —o < x < L1 10M
UNIT -V
10. Solve the partial differential equation x?(y — 2)p + y*(z = x)q = z*(x —¥) L3 10M
OR
1. A homogeneous rod of conducting material of length 100 cm has its ends keptat 0 L3 10M

s 0<x<50

100 —x, 50 <x < 100° Find

temperature and the temperature initially is u(x, 0) :{

the temperature u(x, t) at any time.
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Q.P. Code: 18EC0443 R18

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTON OMOUS)
B.Tech Il Year I Semester Supplementary Examinations July-2022
ANALOG ELECTRONIC CIRCUITS

(Common t0 EEE & CSE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5X2=10 Marks)
(a) Draw the circuit symbol of 2 Zener diode and explain its working,. 2 2M
(b) Explain the operation of PNP transistor and state why PNP is not wildly used. L1 M
(c) Classify Field Effect Transistor. 3 M
(d) Draw the circuit diagram of inverting amplifier and name its parts. 12 2M
(e) Listout the important features of an instrumentation amplifier. 3 2M
PART-B
(Answer all five units, 5 X 10 =50 Marks)
UNIT -1
2. Draw and explain the circuit of Full-Wave -rectifier. L5 10M
OR
3. (a) Compare the V-1 characteristics of PN-Junction diode and Zener Diode. 5 5M
(b) Derivean expression for root mean square current. 5M
UNIT -11
4. Recall the working and construction of NPN transistor. L1 10M
OR
B How a Transistor works as a switch, explain with a diagram. L1 1M
UNIT - 111
6. Classify Field Effect Transistor. L4 10M
OR
7. (a) Explain the working and construction of JFET. L5 5M
(b) Compare BJT and FET. L4 5M
UNIT -1V
8. Contrast the Operational Amplifier Internal Circuit. L4 1M
OR
9. Draw the circuit of Voltage Follower and explain L3 1M
UNIT-V
10. (a) Derive high pass active filter. L3 5M
(b) Explain R-2R Ladder DAC. L5 5M
OR

1 Explain weighted resistor DAC. 15 10M




Time: 3 hours
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Subject Code: 18EC0402 R18
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester Supplementary Examinations July-2022
DIGITAL SYSTEM DESIGN
(ECE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
Define the hexadecimal numbers
Describe the SOP & POS form
Explain Canonical and Standard Forms.
Define and prove the De-Multiplexers
Explain the principle of Concept of Programmable logic devices
PART-B
(Answer all five units, 5 x 10 =50 Marks)

UNIT -1
What is meant by self-Complementing Code and convert (0.6875)10 to
hexadecimal numbers

OR

State and Apply DeMorgan'’s theorem. [(x+y) +(x+y) T=x+y
Describe weighted binary code and Non -weighted code with suitable examples

UNIT -1I
Give the octal equivalent of hexadecimal numbers of DC.BA and AB.CD

OR

Explain the Karnaugh maps of 5 variables with suitable examples

UNIT - III
Prepare the Master-Slave JK FF for the industrial applications

OR
Describe the Shift registers and Clock generation
Write about the Pseudo Random Binary Sequence generator
UNIT -1V
List out the CMOS families applications and design with suitable examples
OR
Explain the PLA Logic implementation using Programmable Devices.
UNIT -V
Draw the diagrams of Data types and objects, Dataflow.
Draw the neat diagrams of the FSM & HDL
OR
Define the Different modelling styles in VHDL

Max.Marks: 60

2M
M
M
2M
M

10M

10M

10M

5M
5M

10M

10M

5M
5M

10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester (R18) Supplementary Examinations July/ August-2022
ELECTROMAGNETIC FIELDS
(EEE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2= 10 Marks)

Write about cross product and dot product?
Write Maxwell's first equation in integral and point form?
Define Dielectric Strength?
State Ampere’s circuital law?
Write Maxwell equations in time varying fields?

PART- B

(Answer all five units, 5 x 10 =50 Marks)

UNIT -1
The vector from the origin fo point A is given as (6,-2,-4), and the unit vector directed
from the origin toward point B is (2, -2, 1)/3. If points A and B are ten units apart, find
the Coordinates of point B

[

o
\._J&"‘—’\._G;"-.—J

OR
Express in cylindrical components; (a) the vector from C(3,2-7) to D(-1,-4,2); (b) a unit
vector at D directed toward C; (c) a unit vector at D directed toward the origin
UNIT - 1I
Four positive point charges 10-12 coulomb each are situated in X-Y plane at points (O,
0), (0,1) (1, 1) and (1, 0) m. Find the electric field and potential at (3/4, 3/4)and (1,1).
OR
Find an expression for electrical field intensity due to infinite line charge?
UNIT - 111
Explain the phenomenon of polarization when a dielectric slab is subjected to an
electric field?
OR
At the boundary between glass &=4 and air, the lines of electric field make an angle of
400 with normal to the boundary. If electric flux density in the air is 0.25pC/m?>.
Determine the orientation and magnitude of electric flux density in the glass?
UNIT - IV
Find the magnetic field intensity H due to co-axial cable?
OR
a) Explain relationship between magnetic torque and moment?
b) Derive an expression for the force between two current carrying wires?
UNIT -V
Explain faradays law of electromagnetic induction and there from derive maxwell's
equation in differential and integral form?
OR
What is displacement current? Explain physical significance of displacement current?

il

L1
L1

12

L2

L4

L2
L4

L2

i

Max.Marks: 60

2M
2M
2M
2M
2M

10M

10M

10M

10M

10M

10M

10M

5M
5M

10M

10M
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Q.P. Code: 18EC0403

Time: 3 hours

1.

(a)
(b)
(c)
(d)
(e)

2

s

4.

5

6.

7. (a)
(b)

8.

9.

10. (a)
(b)

11,

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester Supplementary Examinations July/ August 2022
SIGNALS & SYSTEMS
(ECE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2= 10 Marks)
Define unit ramp function
State duality property of FT
Define stability
Write the properties of ESD and PSD
State and prove differentiation property of Z-transform
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain the classification of signals in detail
OR
Check whether the systems are time invariant or not
a) y(t) =x(=2t) b y()=e¥© © y(n) = x(n) + nx(n = 2)
) y(m) =22 (n—2) e)y(m) =sin[x(w)]
UNIT - 11
What is meant by Fourier Series? Explain the conditions under which any periodic waveform
can be expressed using Fourier series.
OR
By using partiaquraction method, find the inverse Fourier transform of the following 2) X(w)=
(A(w)6)(jw)+6(jw)+8) b) X(@)= (143G w+3) ) X(w) = (w)/ GHjw)
UNIT - 11
A signal (t) = 2 cos 4007t + 6 cos 640t is ideally sampled at fi= 500 Hz . If the sampled
signal is passed through an ideal LPF with a cut off frequency of 400Hz, what frequency
components will appear in the output? Find the output signal.
OR
The impulse response of a continuous time system is expressed as h(t) = (1/rC) €™ t/RCy(t)
Find the Magnitude and frequency response of the system.
The impulse response of a continuous time system is expressed as h(t) = e~2tu(t) Find the
Magnitude and frequency response of the system.
UNIT -1V
Explain the concept of Convolution and list the properties of Convolution in detail
OR
Explain the auto correlation and their properties in energy signals and power signals.
UNIT -V
What is meant by ROC? List the properties of ROC in Laplace transform.
List the Advantages and limitation of Laplace transform
OR
Using the convolution theorem of Laplace transform find y(t)
a) x1(t) = e~ u(t) x2(t)=u(t—3) b) x1(t) = tu(t) ; x2(t) = tu(t)
¢) x1(t) = cos4t u(t) ; x2(t) = sin 2t u(t)
dy x1(t) = e~ 2tu(t) xa(t) =eHu(t) e x1(t) = e~tu(t) ; x2(t) = e u(t)
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Q.P. Code: 18EE0204

Time: 3 hours
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(A UTONOMOUS)

B.Tech I Year I Semester (R1 8) Supplementary Examinations July/August - 2022

ELECTRICAL MACHINES-I
(EEE)

PART-A
(Compulsory Questions)
Answer the following: (3X2=10 Marks)
Write the purpose of the commutator?
Write the working principle of a DC motor.

Name the methods of direct and indirect testing?

Define a transformer?
Full load copper loss in a transformer is 1600 watts. What will be the copper loss at
half full load and 3/4th full load?
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
What are the various characteristics of compound generators?
OR
Draw and explain the characteristics of DC series and DC Shunt Generators.
UNIT - 11
Explain the principle of operation of a D.C motor. Derive the equation for the
torque Developed by a D.C. motor?
OR
Explain in detail about the types of D.C motors. Also mention their applications?

UNIT - I1I
Describe Retardation test n detail. What are its advantages and disadvantages?

OR
Explain in detail about the parallel operation of DC series generators
UNIT -1V
Describe the Parallel operation of transformers with equal voltage ratios.
Draw the equivalent circuit of an Auto transformer.
OR
Discuss the constructional features of transformers. Draw neat diagrams.
A 10KVA, 2200/400V transformer has R1=5 Q, X1=12 Q, R2=0.2 Q and X2=0.48
Q. Determine the equivalent impedance of the transformer referred to (i) primary
side (ii) secondary side.
UNIT-V
Discuss how you will perform 0.C and S.C tests on a single phase transformer in
the Laboratory.
OR
. Explain about principle of operation of single phase induction motor.
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech II Year I Semester (R18) Supplementary Examinations July-2022

DATABASE MANAGEMENT SYSTEMS
(CSE)

Time: 3 hours
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(a)
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PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
What is a data model? List the types of data model used
Define Primary key and Candidate key
Explain the classification of functional dependency
Define transaction management
Give one example for linear hashing
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain about Database languages with examples
OR
List the database models and explain Architecture of database?
UNIT - 1I

Max.Marks: 60

What is a join operator? Explain about conditional join and natural join with

syntax and example.
OR
How to list and update row in a table? Explain with syntax and examples

UNIT - IIT
Differentiate BCNF with 374 normal form.

Explain about denormalization

OR
Explain about schema refinement in database design.
UNIT - 1V
Explain ACID properties of transaction management
OR
Explain buffer management in concurrency control system
UNIT-V
Compare file organizations
OR

Explain about B+ Trees?

L1
L2
L1
L1
L1

I3

L3

L3

L4
13

3

L3

L3

LS

2M
2M
M

2M

10M

10M

10M

10M

5M

10M

10M

10M

10M

10M




Wit ¥1
wor 21
WS Z1
WS 1
WNs ¥1
WS €1
Wor ¥l
WOL ¥

B

iinis )ity .
L}
"
L= _— M
T e
[F13N 1Y
“(q) aaniy pue
() 21ndy ur umoys sutojaAEM FUIMO[I0] A1) JO SULIOJSUET] IDLING,] A1) AUTULINC] 11
HO
sutojsueln) punoy jo sansadord oy aaord pue ajupy 01
A-LINN
‘giajowresed

aouepad] puLy 6’0 =gzA ‘9'0 =1ZA =TIA ‘60 =11A ‘a1e s1aowered-x vaai oy (q
siaoweaed-a puLl €0 =02 1=D ‘6'0=4 ‘T=v ‘ae simowered gy wead oy (e g

HO
e o T
A A VA A
U we ¥
=t { = o T

‘aand iy ur umons Jmoan oy 10) sojaweled Jnoao-joys putg (g
sijawered-A jo suuoy wi siopwiwaed-y noqe urepdxs (e g

Al LINN
UONRHIOND 'Y Y1IM IO Dy SoL1ag jo asundsay) juarsures | ay aauagg 7]
AO
UONRIND Ty (] YIM JINDID-1 Ty 9115 Jo asuodsoy] Juogsuel | ol aaLag] 9
I = LINN

CYZOFART 2P "I

WoL 1 ‘rejap ut doypy ssed-yduy y-jueisuony ynoqge uejdxs

pife]

w3

ZHY 01 =% J pue zppy| =! J saouanbauj
WS §1  Jjo-nd pue gpos jo saepadun ufsap e Guiaey oy ssed pueq yueisuod udisa  (q)

WS ¢ DOURUOSH SALIAG JO Iptm-pueg pue Jope) fend) jnoge uepdxs (e)  p
11— LINN
vrs i vE RV
i o
AAA— A
uT vl
WS ¥l ‘amidy mofaq U umoys y1omau ay 10) watooi) Ajposdoar Kes  (q)
WS Tl watooy) s, uewinnp aaoad pue g (v) ¢
HO
( 1 (i1 nW
e d. mw_
! ADS
C _ q % w
AN
oz Hor
W  ¢1 Sromiau FUIMO[[0] 91 10] SjuaLIND ysaw o sunmagac]  (q)
WS €1 ‘sisAeue jepou Suiddde 10) sdays oy sjum pue sisdjeue epopy Inoqe uiepdxsp  (v) 7
1-LINN
(SR DS= 01 X § “SIIUN DAL [[E Iamsuy)
i -Luvd
WZ Tl suriojsuen 1armog jo sotuadosd osg Aue squpy  (0)
Wz ¥l siapowrered-7 jo yinonn juaeamba sy mea (p)
WZ 11 “Apouiq urejdx jsuonipuos ennu oy eate jeyay ()
Wz ¥l ‘S$134[1y uoneunutja-pueq pue ssed-pueq jo werferp yooq o meacy  (q)
We 1 ysowr sadng pue apou sadng sugaq  (e)
(4re 01 = Z X 6) Buimorjo) oy 1omsuy ‘1
(suonsangy L1osnduwro)y)
V-Lavd
(19 Sy xe P SINOY ¢ oui],
(=20m)
AHOIHL MMOMIAN
zeoz-An| suoneanuexy Lejuawarddng smsawag | 1eag 1] pag g
(snowonNo.LNvY)

ANLLA FADOTONHDAL ANV HONTIDS 40 ALALLISNI VH.LIV Adls

Y] ZFZOAART 2poD D




WZl gt 7= g g - T aagos ‘uuogsuen- 7 oy duidpddy o1
Ho
(quus u)z
WEZL g1 () (uson ulz (1) puy aouap) (uuns)y pue (JUSO3)7 o anjea alj auaoc] b

b ZLHOSTLO1 Bp0D 1D

Y

NG

WEI

WZI

NI

NI

NI

Ny

NG

vl

£l

£l

1

1

)

]

T =)/ o wogsuen aoepdep oy pul

()
ews 2 0= () o waogsuery aoepdey o puy
) 8
Ho
1=t ={op

AHlp Az - 0 oaos o) polow aeogsuer) aoepde dunddy

(prO)Apue
. ) L S A
O pur Cp=()A S = = A0S Uaplogp JO pojow Y=y Buisn
X ap 9

UO

LHOITOS JOENG Lim
pauieggqo uonnos (eaoumu oy asedwoy g = (D4 Sag = Az <4 gra ey
10170 = % e A Jo onpea aeanxosdde ve pury powpow sonos s aopde Bk 4

H1-LIND
g1
Jo0 aqna purg (1) gz o joos acenbs puig (1) pogaw uosydesp-uopsapy dorsp ¥
HO
[RENE
uonastg A saoejd RIDap oMy 0) 10D - wa=(v)f Jo joos aaqsed e puy ¢
11-LIND
Ao e (0) [ e s uopigs
o e Appgeqoad o pugy saemagiem Suidpngs ago o) punog se pue
WOpUED e papiaas stouapnis e (g) gpaipms duieg seosonewogiea ey
Appqeqord oy s1ogeyay (2) Apog uapnis auy o sao apngnsuoy s o)
speat e Surfpogs aae spod o g pue sAog jo gz oo o uiepas eoug z
O
Juatade|das IIm I9I0 1011 U0 UM EIP STUED 0M] ]|
(11) aonjpofo) userp ate spaed om) ] (1) 1 usaa stwns oy eyl Apjgegoad
U PULL D] OF | PIaqUuuInmis SPaes () o) Wopues @ pajosjos oae spaes osmy o (q)
PAIIIAS AIE LDLLIOM LD PLIE LI OM ] 10 LDHTOM
om) pue uew auo ey Apggeqosd oy Apddy dnosd sigy woay wopues
e papales ade suosiad gl uamom zopue uasy ade aten) donoad e up o (e)

1= LINDY

(s>paeIA 00 = Z1 % §) Nun oes wody uoisonh auo 1msiy
S CXEpy SHNO oL |
e
SIWHOASNVILL ANV SOOH TN TVO RETNGINN ALV O
zzoz S| suoneunuexs Sepuawapddng aasowag ey 1 yoa) g
(SNOWONOLNY)
UMLLLO ADOTONHOL ANY AONHIDS 40 SLLOLLLLSNTD VHA VS

b1y ZLHOSTIGO T 2P0 0 D)




Q.P. Code: 19HS0834

€l

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations July 2022

NUMERICAL METHODS & TRANSFORMS

Time: 3 Hours

(ECE)

Answer one question from each unit (5 x 12 = 60 Marks)

1 Using bisection method, find the negative root of the equation
x> —4x+9 = 0 correct up to 4 decimal places.
OR
2 The table gives the distances in nautical miles of the visible horizon for the given
heights in feet above the earth's surface:
x = Height 100 [150 [200 [250 [300 |350 400
y = Distance: | 10.63 | 13.03 | 15.04 | 16.01 | 18.42 | 79.90 21.27

Find the vlaues of y when (i) x= 160 ft and (ii) x=410 ft.

3 - d;v yz e
Using Runge-Kutta method of order 4, solve o —
0.4.
OR
4 14
Compute I (sin x—logx+e” )abc using Simpson's 3/8th rule.
0.2
UNIT-11
5 L =
Find the Laplace transform of t°e™ sin 37+ C—OSMS—M.
[
OR
6 Solve (D? +1)x =tcos 2t,x = Dx = 0atr = 0 by transform method.
NIT-I
Expand the function f(x)= xsinxas a Fourier series in the interval
4 —r < x < 7 and hence deduce that L—L+L—L+ ..... 2
1.3 35 57 19 4
OR

8 a) Obtain the cosine series for f(x)=x,in0<sx<7.
b) Obtain the half range sine series fore"in 0 <x </.

g 1_ 2
Find the Fourier transform of f(x)= {0 A
Hence evaluate Ix_co_sx_j—mﬂ (:osi dx .
. X 2
OR
10

Show that Fj[xf(:c)]=

B
S

Fourier sine and cosine transform of xe

P

|x]£l

x>1

with y(0)=1at x=0.2,

- {E.(s)};ﬁ[,\f{_x)]sdi‘}-:_(5)} and hence find the
s

Max. Marks: 60
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Q.P. Code: 19EC0421
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester Supplementary Examinations July 2022
MICROPOCESSORS AND MICROCONTROLLERS
(CSE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x12 = 60 Marks)
UNIT-I
1 a) Discuss the evolution of computers. 2
b) Explain different Computers and its applications L2
OR
2 a) Explain the various software and hardware parts of microprocessors. L2
b) Discuss different computer languages L2
UNIT-1I
3 a) Draw and explain the timing diagrams of read cycle in 8051. L2
b) Distinguish between jump and call instructions. 14
OR
4 a) Explain Addressing modes of 8085 apply with examples. L3
b) Draw and explain pin diagram of 8085. 12
UNIT-III
5 a) Draw and explain the block diagram of 8051 microcontroller. 12
b) With the diagram explain how 8051 interfaced to external memory. L4
OR
6 a) Explain the different serial communication modes in 8051. )
b Describe the different modes of operations of Timers/Counters in L1
) 8051with its associated registers.
UNIT-IV
7 a) Explain Internal diagram 8051. L2
b) Explain arithmetic operations in 8051. 14
OR
8 a) Discuss the types of addressing modes apply with suitable examples in L3
8051.
b) Explain Data transfer instructions with examples. L4
UNIT-V
9 a) Design microcontroller based stepper motor control. L6
b) Design a program for keyboard interfacing with 8051. L6
OR
10 a) Design traffic light control system using 8051. L6
b) Interface A/D converter with 8051. L4
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Q.P. Code: 19CE0104
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations July-2022
SURVEYING & GEOMATICS
(CIVIL)

Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

f

1 With neat sketch, explain the prismatic compass by indicating their parts. 3 12M
OR

2 Explain briefly the obstacles of chainini of a line with neat sketch L2 12M

3 The following staff readings were observed successively with a level the L3 12M

instrument is moved by third sixth and eighth readings. 2.228 :1.606 :0.988
2,090 :2.864 :1.2620.602 :1.982 :1.044 :2.684 m enter the reading in record book
and calculate R.L. if the first reading was taken at a B.M of 432.383m. Find also
the difference in level between the first and the last points. Use Height of
[nstrument method.
OR
4 (a) Define contour. State the various characteristics of contour lines. L1 oM

(b) Mention the uses of contour in civil engineering works? L2 6M
UNIT-III

5 For the following traverse, compute the length CD, so that A, D and E may be L5 12M
in one straight line.

Line | Length(m) Bearing
AB 110° 83°12°
BC 165° 30°42°
CD ? 346°06°
DE 212" 16°18°
OR
6 The vertical angles to vanes fixed at 0.5m and 3.5m above the foot of the staff L5 12M

heldvertically at a point were - 00° 30’ and + 10 °12' respectively. Find the
horizontal distance and the reduced level of the point, if the level of the
instrument axis is125.380meters above datum.

7 Explain various elements of a simple curve with a neat sketch. L4 12M
OR
8 Two straight lines AC and CB, to be connected by a 30 curve, intersect at L3 12M

achainage of 2760m. The WCBs of AC and CB are 45030" and 75030
respectively. Calculate all necessary data for setting out the curve by the
method of offsets fromthe long chord.

9 Briefly explain the types of EDM instrument L2 12M
OR
10 Describe with sketch, the fundamental measurement of angles and distances by L3 12M

total station.
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Q.P. Code: 19CE0151 R19

b)

a)

b)

a)

b)

a)
b)

aj

b)

Time: 3 Hours

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year | Semester Supplementary Examinations July-2022
FLUID MECHANICS & HYDRAULICS MACHINERY
(MECH)

Answer one question from each unit (5 x 12 = 60 Marks)
Note: Assume suitable data, if any data is missing

List out different pressure measuring devices and discuss Bourdon's pressure
gauge.

A differential manometer connected at the two points A and B in a pipe
containing an oil of specific gravity of 0.9 shows a difference in mercury level
a5 300 mm. calculate the pressure at the two points

OR

Define and write the expression for specific weight, specific volume, specific
gravity

Define atmospheric, gauge, absolute pressures and what are different

measuring devices of pressure

Discuss stream function and velocity potential function
State and prove Bernoulli’s energy equation
OR
Define flow net and discuss different acceleration of a fluid particle
What are Energy correction factor and Momentum correction factor

What are the different types of venturi meter and discuss the various
components of venturi meter with a neat sketch
Define pipe and discuss briefly the significance of pipes connected in series
OR
Enlist the various flow measuring devices and write the expression for rate of
flow of venturi meter
Derive the Darcy Weisbach equation for loss of head in pipe flow

Derive an expression for force exerted by a jet of water on moving inclined
plate in the direction of jet
Explain the necessity of hydroelectric power plant

OR
Compute (i) force on the plate, (ii) work done and (iii) efficiency of the jet with
the help of given data. A nozzle of 30 mm diameter delivers a stream of water
at 12 m/s perpendicular to a plate that moves away from the atjet 3 m /s.
List and describe briefly different comionents of dam type power plant

Distinguish between reaction turbine and impulse turbine
What is the necessity of pumps are connected both in series and parallel?
Justify
OR
What are functions of draft tube
Derive the expression for specific speed of a centrifugal pump

Max. Marks: 60

L1

L5

1.2

L1

L4

L1
L2

L1

L4

L4

3
L4

L2
L4

6M

oM

6M

6M

6M
6M

6M
6M

6M

6M

6M

6M

6M

6M

oM

6M
oM

5M
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Q.P. Code: 19ME0304 R19
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations July-2022
KINEMATICS OF MACHINERY
(MECH)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

!UNIT-I‘

1 Explain the inversions of double slider crank chain with neat sketch and list L3 12M
out the practical applications of inversions.
OR
2 Enlighten the inversions of single slider crank chain with neat sketch and list L3 12M

out the practical applications of inversions?
UNIT-II

3 With neat sketch, explain the Davis steering gear of an automobile L2 12M
OR

4 (a) Draw the Sketch and Describe the watt mec hanism L1 oM

(b) Sketchand Describe the working of Peaucellier mechanism L1 oM

1]

Explain with sketch the instantaneous centre method for determination of L2 12M
velocities of links and mechanisms
OR
6 (a) Draw the displacement, velocity and acceleration diagrams for a follower L3 6M
when it moves with simple harmonic motion.
(b) Draw the displacement, velocity and acceleration diagrams for a follower L[4 6M

when it moves with uniform Acceleration and retardation

¥ Explain with sketches the different types of followers. L3 12M
OR

8 Define the following terms i. Cam ii. Follower iii. Offset follower iv. Radial L1 12M

follower

UNIT-

9 Explain the epicycloid and hypocycloidal forms of teeth with neat sketch L3 12M
OR

10 Explain briefly the differences between simple, compound, and epicyclic gear L3 12M

trains. What are the special advantages of epicyclic gear trains?
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Q.P. Code: 19EE0203 R19

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech II Year | Semester Supplementary Examinations July-2022
ELECTRICAL MACHINES-I
(EEE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5x12 = 60 Marks)

1 What are the various characteristics of compound generators? L1 12M
OR
2 Draw and explain the characteristics of DC series and DC Shunt L2 1M
Generators.

3 Draw and explain the characteristics of DC series and DC Shunt L2 12M
Motors.
OR
4 Explain the principle of operation of a D.C motor . Derive the L3 12M

equation for the torque Developed by a D.C. motor

NIT-III
5 Describe Retardation test n detail . What are its advantages 12 12M
and disadvantages

OR
6 Explain in detail about the parallel operation of DC series L3 12M
generators.
- (a) Discuss the constructional features of transformers. Draw neat 12 6M
Diagrams.
(b) A 10KVA, 2200/400V transformer has R1=5Q, X1=12 Q,R2=02 L3 6M
Q and X2=0.48 Q. Determine the equivalent impedance of the
transformer referred to (i) primary side (ii) secondary side.
OR
8 (a) Explain the principle of operation of an transformer. L3 6M
(b) Derive the e.m. f. equation of a transformer. L4 6M
NIT-
9 State and explain the various conditions of parallel operationof L2 12M
three-phase transformers
OR
10 A three phase step down transformer is connected to 6600 volts L3 12M

mains and it takes 10A. Calculate the secondary line voltage, line
current and output for the following connections. a) delta-star b)
star-delta
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Q.P. Code: 19CS0506 R19
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year I Semester Supplementary Examinations July-2022
DATABASE MANAGEMENT SYSTEMS
(CSE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

1 Differentiate betweenRelationship and Relationship set. L5 12M
OR
2 (a) Implement the DDL Commands - Table Creation, Altering the table L2 6M
structures, truncating a table and dropping a table.
(b) Implement the DML Commands - Insert, Select Commands, update& L2 oM
delete Commands.

UNIT-II

3 (a) Define NULL Vv ALUE? Describe the effect of null values in database L1 6M
(b) Describe different types of aggregate operators with examples in SQL L2 6M

OR
4 (a) Explainthe working of union, intersection and except operations. L3 &M
(b) Give aexamples ofclauses SELECT with an example. 12 &M
5 Explain in detail Lossless join decomposition and dependency preserving L3 12M

decomposition with suitable example.

OR
6 (a) Define functional dependencies. How are primary keys related to FD's L1 6M
(b) Whatis redundancy? What are the problems caused by the redundancy L1 6M
7 (a) Whatare the states of transaction. L1 6M
(b) What are the two statements regarding transaction. L1 oM

OR
8 Identify the Validation based protocols. L3 12M
9 (a) Write short noteon Buffer management for management of data. L3 oM
(b) Explainin detail about ISAM. L3 6M

OR
10 (a) What are the types of storage devices L1 e6M

(b) Explain Buffer Management in cCONCUrrency control system L3 oM




Q.P. Code: 19CS0550

1 (a)
(b)

2

3

4

B

6 a)
b)

7

8 (a)
(b)

9 (a)
(b)

10 (a)
(b)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations July-2022
RELATIONAL DATABASE MANAGEMENT SYSTEM
(Common to CE, EEE & ME)

Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5 x 12 = 60 Marks)
NIT-I
Explain about Data independence. 12

Implement the DML Commands - Insert, Select Commands, update & delete L1

Commands.
OR

Explain about the Architecture of Database system. L2

Explain different types of Attributes with an example. L2
OR

Draw the ER diagram for Banking Ai ilicaticms and explain it. L2

Explain about the form of basic SQL query with an example. L2
OR

To solve: L6

i. Write a query to find name and age of sailors who have rating above 7.
ii. Write a query to find the name of sailors who have reserved at least two
boats.

Discuss about GROUP BY clauses and HAVING clauses. L2
Define normalization. List and Explain different normal forms with L2
examples.
' OR
Illustrate redundancy and the problems that it can cause? L3
Explain about properties of decompositions? L2
Explain different types of locks. L2
Discuss about Times tamp based locking protocols? L6
OR
Explain how recovery is done using undo logging and redo logging. L3

Which level of RAID is best? Why? j 71

RIS

6M
6M

12M

12M

12M

12M

6M

6M

12M

6M
6M

6M
6M

6M
6M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech II Year I Semester Supplementary Examinations July-2022

LINUX PROGRAMMING
(ECE)

Time: 3 Hours

Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

What is meant by path and pathname in Unix? Explain them in L1

detail?
OR

What are the file types available in Unix? Discuss file operators L1

with suitable examples?
Illustrates about standard streams?

NIT-II
Explain command substitution with example.

Explain about Command Execution?
OR

L2

{7
i

Describe how to resume foreground and kill background job by L2

using various kill options.

What is an option? Mention at least three options and their use?

Explain talk and write command.
OR

How remote access is done in Unix, detail it.

[y

L2

L1

Explain about a Variable and distinguish between a variable and L2

a value.
OR
[llustrate (i) Atoms ii) Operators

Explain about C shell and its features.
OR

How decision making is done? Explain with program.

L4

{15

12M

6M

6M

6M
6M

12M

12M

6M

12M

12M

12M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester Supplementary Examinations July-2022
ELECTROMAGNETIC THEORY AND TRANSMISSION LINES

(ECE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
Ik Answer the following: (5 X 2 =10 Marks)
(a) What is the equation for F that exist between two unlike charges? Ll 2M
(b) What are the applications of ampere’s circuit law? L1 2M
(¢) Define Faradays Law. L2 2M
(d) What is meant by plane polarization? 2 2M
(e) Define SWR. Ll 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1

]

Three Point Charges Q;=1 mc, Q;=2 mc and Q;=-3 mc are respectively located at L3 10M
(0,0.4), (-2,6,1) and (3,-4,-8). Calculate the electric force and electric field on Q; due
10 Q2 and Qs.

OR
3. (a) A Point Charge 100 pC is located at (4,1,-3) while the x-axis carries charge 2nC/m. If L3 5M
the Plane z=3 is also carries charge SnC;’mz‘ find £ at(1,1,1).

(b) Define Gauss Law. Explain about its applications L3 SM
UNIT -1I
4, Explain any two applications of Ampere’s Circuit law. L2 10M
OR
5. Find H for a straight current carrying conductor using Biot Savart’s law and Ampere’s L1 10M
Circuit law.
UNIT - 111
6. Classify Maxwell equations for electrostatic fields in both differential and integral L1  10M
form.
OR
i @ Prove that the Displacement Current Density [ = ch:fg L5 SM
(b) Explain the motional EMF and derive the expression for the maxwell equation. L5 5M
UNIT -1V
8. Electric field in free space is given by E=50 cos(10°t + Bx) a,v/m L3 10M
a). Find the direction of wave propagation.
b). Calculate B and the time it takes to travel a distance of A.
¢). Sketch the wave at t=0,T/4 and T/2.
OR
5. Discuss about pointing theorem and poynting vector. L2 10M
UNIT-V
10. (a) Explain about S-Circle, r-Circle and x-Circle in smith chart. L2 5M
(b) A distortion less line has Z0=60 Q Attenuation constant = 20 mNp/m and u=0.6¢ (cis L3  5M

velocity of light) Find the primary parameters of the transmission line(RL C G and %)
at 100MHz.
OR
11. Explain about the smith chart for finding the SWR and Reflection co-efficient. L2 10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech III Year I Semester (R18) Supplementary Examinations July-2022
MANAGERIAL ECONOMICS AND FINANCIAL ANALYSIS

Time: 3 hours

tad

wn

10.

11.

(EEE & CSE)

Max.Marks: 60

PART-A
(Compulsory Questions)

Answer the following; (5 X 2 = 10 Marks)

(a) What is Elasticity of demand?
(b) Explain Economies of scale?

(¢c) What are the objectives of pricing?
(d) Explain components of working Capital.
(e) Explain the types of accounts and its rules.

PART-B

(Answer all five units, 5 x 10 =50 Marks)

UNIT -1

What is the significance of Managerial Economics in decision making

OR

State the ‘Law of Demand’. What are the various factors that determine the demand

for a Mobile Phone?

UNIT -1I

Define Break-even point and state the assumptions.

OR

From the following information relating to Hi-Tech publishers you are required to find
out (A) Break-even point in units (B) Margin of Safety (C) Profit. Also calculate the
volume of sales to earn a profit of Rs.6,000.

fixed costs — Rs.4,500, Total Variable costs — Rs.7,500

Total sales - Rs.25,000, Units Sold - 5000 units

UNIT - 111

Explain how price is determined under perfect competition.

OR

What is meant by economic liberalization, economic privatization and globalization?

UNIT -1V

The cost of a project is Rs.50,000 which has an expected life of 5 years. The cash

inflows for next S5 years are

Rs.24,000; Rs.26,000; Rs.20,000: Rs.17000 and

Rs.16.000 respectively. Determine the Payback period.

Consider the case of the company

OR
with the following two investment alternatives each

costing Rs.9 lakhs. The details of cash inflows are as follows

[ Year

Project] | Project2

1

3,00,000 | 6,00,000

5.00,000 | 4,00,000

LIVS ) g

6.00,000 | 3,00,000 |

The cost of capital is 10% per year. Which are will you Choose
(a) NPV method. (b) Under IRR method.

UNIT-V

What is meant by Ratio analysis? Explain briefly about various types of ratios.

OR

a) Calculate debtors turnover ratio and debtors collection period, if credit sales for
the year Rs.9,00,000, debtors Rs.90.000 and bills payable Rs.60,000.

b) Calculate the acid test ratio

if current assets Rs.8,00,000; Current liabilities

Rs.4,00.000; and Stock Rs. 2.20.000.

L1
1.2
E
L1
L1

Ll

L5

2M
2M
2M
2M
2M

10M
10M

10M

10M

10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech III Year I Semester (R18) Supplementary Examinations July-2022
OPERATING SYSTEMS

(CSE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
I Answer the following; (5 X 2 = 10 Marks)
(@) What are Batch systems? L1 2M
(b) What are the types of scheduler? L1 2M
(c) Define Starvation in deadlock? L1 2M
(d) Define Partition Control Block? L1 2M
(e) What are the different methods for allocation in a File System? L1 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. Explain the different functions of an operating system and discuss the various services L6 10M
provided by an operating system.
OR
3. a) Explain difference between Multitasking and Multi Programming? L2 5M
b) Explain briefly User and Operating System Interface L2 5M
UNIT -1I

4. Consider 3 processes P1, P2 and P3, which require 5, 7 and 4 time units L5 10M
and arrive at time 0, 1 and 3. Draw the Gant chart, process completion
sequence and Average Waiting time for.
(i) Round robin scheduling with CPU quantum of 2 time units.
(ii) FCFS.

OR
5. Explain in detail Inter Process Communication? L2 10M
UNIT - III
6. What is Monitor? Explain with any example using monitor? L2 10M
OR
7. Write about Deadlock Prevention Methods? L5 10M
UNIT - IV
8. Discuss about page replacement algorithms with example L2 10M
OR

9. Given page reference string: 1,2,3,2,1,5,2,1,6,25,63,1,3,6,1,24,3. Compare the number L5 10M
of page faults for LRU, FIFO and Optimal page replacement algorithm.
UNIT -V
10, Write about different types of operation performed on file. L3 10M
OR
11. Explain about bit vector and Linked list free space management Techniqu L2 10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester (R18) Supplementary Examinations July 2022
ELECTRONIC MEASUREMENTS AND INSTRUMENTATION

(ECE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1: Answer the following; (5 X 2 = 10 Marks)
(a) Define Repeatability. L1 M
(b) What is the use of phosphor in a CRT. L1 M
(¢) What is distortion. L2 2M
(d) What is a bridge circuit. Ll M
(e) Define transducer. 89| M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) Explain different types of errors that occurin measurements. L2 M
(b) Explain about Differential type voltmeter. 12 M
OR
3. (a) Explain the dynamic response ofan instrument. 12 M
(b) Explain about multirange AC voltmeter. L2 M
UNIT - 11
4. Draw the block diagram of a general-purpose oscilloscope (CRO) and
explain function of each block. L4 10M
OR
5. (a) State the various applications of an oscilloscope. L2 M
(b) Explain the function of trigger circuit. 2 sM
UNIT - 111
6. (a) Describe with diagram the operation of a Logic analyzer. 12 5M
(b) List the application of wave analyzers. 12 sM
OR
7. (a) With a neat sketch explain the operation of arbitrary waveform generator. L2 M
(b) What are the different specifications of arbitrary waveform generator? 1.2 SM
UNIT -1V
8. Explain any Two ac bridges to measure unknown Inductance. L2 10M
OR
9. Explain the operation of Kelvin Bridge and derive necessary equation 122 10M
UNIT-V
10. With a neat sketch explain the operation of LVDT. What are the
advantages & disadvantages? L3 10M
OR

11. Write short notes on thermometer. L3 10M




'Q.P. Code: 18CS0516

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester (R18) Supplementary Examinations July-2021
DESIGN AND ANALYSIS OF ALGORITHMS
(CSE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
B Answer the following; (5 X 2 = 10 Marks)

(a) List out the steps that need to design an algorithm. Ll 2M
(b) Define the divide and conquer method. L1 2M
(c) What is Knapsack problem? L1 2M
(d) Define Branch-and-Bound method. L1 2M
o (e) Define class P. LT 2M
o PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. Simplify steps involved in performance analysis with example. L2 10M
OR
3. (a) What is asymptotic notation? Explain different types of notations with examples? L2 5M
(b)  Illustraté an algorithm for (i) Finding factorial of n number (ii)Sum of n natural numbers L2 5M
UNIT -1I
4. Analyze the working strategy of merge sort and illustrate the process of merge sort L2 10M
algorithm for the given data: 43, 32, 22, 78, 63, 57, 91 and 13.
OR
5 Explain the Strassen’s algorithm for matrix multiplication and analyze time complexity. L5 10M
UNIT - 1II
6. Construct an optimal solution for Knapsack problem, where n=7, M=15 and L3 10M
(pl.p2.p3,p4,p5,p6.p7)=(10,5,15,7.6,1 8.3)and(wl,w2,w3,w4,w5wb,w7)=(2,3,5.7.1.4,1)
by using Greedy strategy.
@ OR
i Explain 0/1 knapsack problem by using dynamic programming with an examples. L2 10M
UNIT -1V
8. Construct the LC branch and bound search. Consider knapsack instance n=4 with capacity L6 10M
M=15 such that pi={10,10,12,18},wi={2,4,6,9}apply LC branch and bound technique
OR
9 Explain sum of subsets by using backtracking with an example. L5 10M
: UNIT -V
10. Construct the non-deterministic algorithms with example. L3 10M
OR

11. Determine the classes NP-hard and NP-complete problem with example. L3 10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester (R18) Supplementary Examinations July-2022
MACHINE TOOLS
(MECH)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
What is the function of a chip breaker?
Define cutting speed.
Draw the split nut.
Name the different types of the drilling machines?
Name the lap materials generally used.
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain the formation of chip. Discuss the types of chips with neat sketches.
OR
Give the short notes on ASA system and ORS system. Show the inter
relationship equations between ASA and ORS system.
UNIT - 11
Draw a Merchants circle diagram and derive expressions to show
relationships among the different forces acting on the cutting tool and
coefficient of friction. "
OR
Explain the stress and strain acting on a chip.
Define cutting speed, feed, and depth of cut.
UNIT - III
Draw the engine lathe and label the parts. Discuss the functions of the lathe
parts.
OR
Explain lathe machine accessories with neat sketches.
UNIT - IV
Explain with neat sketches any one of the following i) Radial drilling machine
ii) Sensitive drilling machine iii) Gang drilling machine.
OR
Explain briefly plain indexing and differential indexing with suitable example.
UNIT -V
Give the comparison among Grinding, lapping and honing.
' OR
Explain with the help of neat sketch 3-2-1 principle of location.

Rr1§

L1
L1
L3
Ll
L2

L2

L4

L2

L3

Max.Marks: 60

2M
M
M
2M
2M

10M

10M

10M

5M
5M

10M

10M

10M

10M

10M

10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech ITI Year I Semester (R18) Supplementary Examinations July/August-2022

DIGITAL COMMUNICATIONS
(ECE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
(a) What is meant by code word length?
(b) How the raised cosine spectrum obtained in baseband transmission?
(©) Draw the block diagram of integrator?
(d) List the advantages of Passband transmission
(e) Define the term Hamming distance in coding,
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain the delta modulation system with suitable diagrams?
OR
a)  Explain the Process of Quantization through one Example?
b) Classify the types of Quantization ?
UNIT - 1I
Explain in detail about Inter symbol interference and its effects?
OR
Derive the expression for the Nyquist criterion for distortion less baseband
transmission in the absence of noise in terms of time domain & Frequency domain
UNIT - 1II
Draw the block diagram of the structure and behavior of Matched filter Receiver?

OR
a)  Explain the the concept of Schwarz Inequality
b) Explain signal representation of a signal N=2and M=3.
UNIT -1V
a) Sketch with a neat diagram of M-array PSK transmitter and receiver
b) What are the parameters you can consider to choose the modulation
techniques.
OR
Draw the block diagram of QPSK transmitter & receiver and explain each block in
detail
UNIT -V
a) What are the types of parity check codes explain with neat diagrams?
b)  Explain the concept of Parity check matrix for linear block codes.
OR
a)  Explain the Convolutional Encoding and Decoding methods
b)  Discuss in brief about sequential decoding of convolutional codes

R1S

L1
L3
L3
L2
L1

L2

12
L4

L2

L4

L4

12
L4

L3
L5

L4

L3

1.2

L2

Max.Marks: 60

2M
M
M
2M
2M

10M

5M
5M

10M

10M

10M

10M

5M

5M

5M
5M




Q.P. Code: 18EE0212 R18

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester (R18) Supplementary Examinations July/ August-2022
ELECTRICAL MEASUREMENTS

(EEE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(a) List Applications of Electrostatic Voltmeter L1 2M
(b)  Write short notes on Sensitivity of Wheatstone brid ge L3 2M
(c) Draw aneat figure ofa CR O. L3 2M
(d) How the CT and PT are connected in the circuits L2 2M
(e) What are the Advantages of AC Bridge L1 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1

2. Explain the working of universal shunt used for multi range ammeters and derive L2 10M
expressions for resistances of different sections of a universal shunt for 3 range

ammeter
OR
3. How do you extend the range of an Ammeter? Explain Aryton Shunt with diagram. L2 10M
UNIT - II

4. Explain how insulation resistance of a cable can be measured with a help of Loss of L2 10M
charge method?
OR
5. Derive the general balance equation of DC and AC Bridges with suitable diagrams. 14 10M
What are the balance condition equations in polar and Rectangular forms?

UNIT - 111
6. Give the constructional details of electro dynamometer type wattmeter with a neat L2 10M
sketch.
OR

~

Explain with a neat sketch the construction and working of a single-phase L2 10M
Dynamometer type Wattmeter.

UNIT - IV
8. Explain the construction of (i) Current transformer (i1) Potential transformer L3 10M
OR
9. a) Describe the construction and working of a d.c potentiometer. L4 5M
b) How do you measure current and voltage using potentiometer L1 5M
UNIT - V

10.  Describe the method for determination of B.H curve of a magnetic material using: (i) L2 10M
Method of Reversals (ii) Six point method.
OR
11 a)  How do you measure leakage factor using Flux meter L1 5M
b)  Explain the method of measuring core losses using A.C potentiometer method. L2 5M
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Q.P. Code: 1I8ME0307 R18/SS

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech I1I Year | Semester (R18) Supplementary Examinations July 2022
NON CONVENTIONAL ENERGY RESOURCES

(MECH)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
i Answer the following: (5 X 2 = 10 Marks)
(a) What are the fundamental sources of energy? L 2M
(b) Define solar pond. L2 M
(c) What are the advantages of wind power? 1.2 2M
(d) What are the methods used to analysis of biomass? L1 2M
(e) What is hydrogen fuel? L2 M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) What is the need of renewable energy? L5 M
(b) Describe Renewable Energy Scenario in Andhra Pradesh. L2 SM
OR
3. (a) Write a short note on the use of wind sock in aviation industry. L3 M
(b) Explain briefly about the secondary sources of Energy. L2 M
UNIT - 11
4, Describe with a neat sketch working of a solar water heating system and L5 10M
state its 12M advantages and disadvantages.
OR
5 Explain the working of water heating system and desalination system with 25 10M
a neat sketch.
UNIT - 111
6. Classify the wind turbines and explain their working in detail. L1 10M
OR
T Describe the working of VAWT with its merits and demerits. L6 10M
UNIT -1V
8. Explain the working of biomass Cogeneration system with a neat sketch L3 10M
and also mention its applications.
OR
9. (a) What are the factors affecting the generation of bio gas? L3 SM
(b) Explicate various steps involve in the production of Ethanol. L4 SM
UNIT -V
10. Explain the basic components of a tidal power plant and state their merits
and demerits. 1.3 10M
OR

11. Explain in detail the wave energy conversion by floats. L3 10M
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Q.P. Code: 19EE0210

Time: 3 Hours

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech III Year I Semester Supplementary Examinations July-2022
POWER ELECTRONICS
(EEE)

Answer one question from each unit (5 x 12 = 60 Marks)

Briefly explain about Insulated Gate Bipolar Transistor (IGBT) and it's

switching characteristics.
OR

Explain the different modes of operation of thyristor with the help of its V-1

characteristics.
NIT-I

Explain the operation of single phase full wave converter with R-load at
a=450 with necessary wave forms. Also derive the output voltage, output
current and RMS output voltages.

OR

Explain the operation of Three phase fully controlled rectifier with RL load
and also derive the average and RMS load voltage.

Discuss the principle of operation of DC-DC step up chopper, derive average

output voltage and current equations along with suitable waveforms.
OR

The boost converter has an input voltage of Edc= 5V.the required average
output voltage is E0=15V And the average load current 10=0.5A. The
switching frequency is 25 kHz. If the L= 150uH and C= 220uF, Determine

i) the duty cycle

ii) the ripple current of inductor Al

iii) the peak current of inductor 12,

iv) The ripple voltage of filter capacitor AVC

Explain the operation of single phase to single phase bridge type step-up
cycloconverter with continues mode.
OR

Explain the load commutated Cycloconverter.
What are the applications of Cycloconverter?
Draw and Explain V-I Characteristics of TRIAC.

List the applications of ac voltage controller.
OR

Draw and Explain the operation of single phase full wave ac voltage
controller with R load.

Max. Marks: 60

L2

L2

L2

L2

L3

L2

L2
L2

L4
12

12M

12M

12M

12M

12M

12M

6M
6M

6M
6M

12M
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Q.P. Code: 19EC0414 R19

SIDDARTHA INSTITUTE OF SCTENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester Supplementary Examinations July- 2022
ANTENNAS AND WAVE PROPAGATION
(ECE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

a) Writc a note on Radiation pattern and representation L1
b) Explain Antenna Noise Temperature and Radiation Resistance L3
OR

a) At any observation point, lying in the planc of maximum radiation, the L3
received electric field strength is 20 pV/m. If the radiating antenna is Half
wave dipole operating at 300 MHz at the distance of 300 km away from the
point of observation then find out the following: i) Length of the dipole, and
ii) Input current to the antenna

b) Define directivity and Explain the dilferent techniques to estimnate directivity L2

a) Discuss about the horn antenna types & its characteristics L2

b) Discuss the design considerations of pyramidal horn antenna L2
OR

a) Explain the significance of Helical structure in helical antenna L2

b) What is a patch antenna? Explain briefly the different methods of feeds of 1.2

parabolic reflector antennas
NIT-III

a) Give the advantages and limitations of micro strip antennas L1
b) A parabolic reflector antenna with diameter 1.8 m is designed to operate at L3
frequency of 6 GHz and illumination efficiency of 0.65. Calculate the FN BW

and antenna gain?

OR
a) Write short notes on Coordination system for antenna measurement L1
b) Explain sources of Error in Antenna measurement L2
a) Write short notes on broad side and end fire arrays L5
b) Explain End fire array with increase directivity Ed
OR
a) Compare the Broad side array and End fire array L5

b) Find the minimum spacing between the elements in a broadside array of 10 L2

isotropic radiators to have directivity of 7db
_

a) Explain lowest usable high frequency (LUHF) and give its significance L2
b) Explain the relation between MUF and skip distance £2
OR

a) For a flat earth assume that at 400 km reflection takes place. The maximum L3
density of ionosphere corresponds to a refractive index of 0.9 at 10 MHz.
Calculate range for which maximum usable frequency is 10 MHz

b) Explain Maximum usable frequency with its expression L2

6M
6M

6M

6M

6M
6M

6M
oM

6M
6M

6M
6M

6M
6M

6M
oM

6M
6M

6M

6M
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Q.P. Code: 19ME0312

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech III Year I Semester Supplementary Examinations July 2022
MACHINE TOOLS
(MECH)
Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5x12 = 60 Marks)

a) What factors influence the formation of the Built-Up-Edge (BUE) and give the L2
factors to reduce the BUE?
b) Explain the function of different tool angles associated with the geometry of a L2
single point cutting tool with neat sketch.
OR

a) Give the short notes on ASA system and ORS system. Show the interrelationship L2
equations between ASA and ORS system.
b) Explain the types of chips with neat sketches. L2

Sketch the Merchant’s circle diagram and derive expressions to show L3
relationships among the different forces acting on the cutting tool and coefficient
of friction.

OR

The following equation for tool life is given for a turning operation 6 i Sl 0
037 —C. A 60-minute tool life was obtained while cutting at cutting velocity =40
m/min, feed rate =0.15 mm/rev and depth of cut = 2mm. Determine the change in

tool life if the cutting speed, feed and depth of cut an increased by 10%
individually and also taken together.

a) Explain the differences between the conventional lathe and CNC lathe. L2
b) Define the working principle of Lathe. Name at least five work holding devicesin L2
Lathe.
OR

What are the different types of taper turning methods? Discuss any one method L2
with suitable diagram.

b) Explain the Apron feed mechanisms in the Engine lathe. L2

a) Give the comparison among planer, shaper and slotter operations. L2

b) Explain briefly plain indexing and differential indexing with suitable example. 12
OR

a) Discuss briefly with neat sketch, a horizontal boring machine. 2

b) Describe the Whitworth quick return mechanism used in shapers. L2

UNIT-V

a) Compare the differences among grinding, lapping and honing operations. L2

b) How grinding wheel is specified explain with an example. 12
OR

10 a) Explain the different factors that need to be considered for selecting the grinding L2

wheel.
b) Compare the differences among grinding, lapping and honing operations. L2

6M

6M

6M

6M

12M

6M
6M

6M

6M

6M
6M

6M
oM

6M
6M

6M

6M
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Q.P. Code: 19CE0117 R19

—

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech IIT Year I Semester Supplementary Examinations July-2022
GEOTECHNICAL ENGINEERING
(Civil Engineering)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

1 a) Classify various types of soil structures with neat sketch. L2 &M
b) Explain Clay mineralogy. L2 gMm

OR
2 a) Write short notes on Index Properties of soils. L2 &M
b) Define permeability. Explain various factors affecting permeability L2 oM

[UNTT-11
(3 Describe the Standard Proctor test and modified Proctor test to be conducted in L2 12M
the laboratory.
OR
4 a) Explain pre consolidation pressure. L2 6M
b) Draw the graph representing preconsolidation pressure. L2 6M

5 a) A concentrated load of 2000 kN acts vertically at the ground surface. 12 6M
Determine the vertical stress at a point P which is 6m directly below the
load. Also calculate the vertical stress at a point R which is at a depth of 6m
but at a horizontal distance of 5m from the axis of the load.

b) Explain the concept of ‘Westergaards theory’ in soils. L2 6M
OR
6 Explain the principle of the direct shear test. What are the advantages of this
s L2 12M
test? What are its Limitations?
L7 a) What are the factors causes the slope failures. L1 6eM
b)  Explain different types of slope failures with neat ketches. L1 6M
OR
8 a) Explain Taylor's stability number . L2 6eM

b) A canal is to be excavated through a soil withc =15 kN/m2, ® =20°,e = L3 6M
0.9 and G = 2.67. The side slope is 1 in 1. The depth of the canal is 6 m.
determine the factor of safety with respect to cohesion when the canal runs
full. What will be the factor of safetE if the canal is rapidly emptied.

9 a) Whatare the different stages in sub soil exploration? L1 6M
b) Explain various uses of site investigations. L2 6M
OR

10 Give a detailed account on how Standard Penetration Test is conducted. What~

2N
are the relevant corrections applied to SPT number? b 1M
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Q.P. Code: 19ME0313 R19
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B. Tech III Year I Semester Supplementary Examinations July-2022
CAD/CAM
(Mechanical Engineering)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)
1 a) Draw the product cycle and CAD/CAM product cycle with neat sketch. L2
b) Explain the CAD Tools. L2
OR
2 a) Write short notes on Rotation about a Fixed Point, Reflections and Shears. 1.2
b) Describe the Utilization in a Industrial Environment of CAD. L3
NIT-I
Describe briefly the following methods of surface modeling with a few LI
application examples. (a) B-spline surface. (b) Bezier surface.
OR
4 a) Write a short note on analytic representations. L4
b) Compare 2-D and 3-D wire frame models. L2
NIT-I1I
5 a) List out and explain about basic components of an NC system and CNC 12
system.
b) Briefly explain about NC Coordinate systems. L2
OR
6 a) State and draw a neat sketch of the cutter radius compensation. L2
b) Write a short note on Manual part programming. L2
NIT-I
7 a) Determine briefly about production flow analysis (PFA) and Benefits of L2
Group Technology.
b) What is mean by Machine cell design and explain it? L3
OR
8 a) Write Shortnotes on manufacturing system. E2
b) State and explain briefly about terminology in quality control. L2
Enumerate the Retrieval type system with neat sketch and explain the L2
Benefits of CAPP.
OR
10 a) Write advantage and dis advantage of computer aided processes planning. L3
b) Define the shop floor control and write short notes on function of shop floor L2

oM
oM

6M
6M

1M

6M
6M

oM

oM

6M
6M

6M

oM

oM
6M

12M

6M
6M
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Q.P. Code: 19CS0517 R19
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester Supplementary Examinations July-2022
DATA WAREHOUSING AND DATA MINING
(CSE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)
a) Define Data mining? Explain about data mining on what kind of data. L1 6M
1 b) Compare Data Warehousing and Data Mining L5 6M
OR
2 a) [Illustrate the concept of Data discretization. L2 &M
b) Explain about Dimensionality reduction methods? L2 &M
Construct lattice of cuboids given 4 dimensions: time, location, productand L6 12M
supplies.
OR
+ Explain in brief about ROLAP, MOLAP and HOLAP servers. L2 12M
5 What are the Draw backs of Apriori Algorithm? Explain about FP Growth L5 12M
Concept in Detail?
OR
6 a) Explain about Constraint based Association mining L5 6M
b) Discuss about the criteria for classifying the frequent itemset. L6 6M
7 Define Bayes theorem. Explain the Naive Bayesian Classification with anexa L1 12M
OR
8 a) Explain about Bayesian belief networks with an example L5 6M
b) Summarize about attribute selection measures. L2 6M
9 What are the basic approaches for generating an agglomerative hierarchical L1 12M
clustering? Explain the algorithm.
OR
10 a) Explain k-Means and k-Medoids partitioning methods in detail. L5 6M
b) Discuss the key issues in hierarchical clustering algorithm. L6 6M




w
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Q.P. Code: 19CEO0118 RIQ

b)

2)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
III B.Tech I Semester Supplementary Examinations July-2022
TRANSPORTATION ENGINEERING
(CIVIL ENGINEERING)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)
T

The speeds of overtaking and overtaken vehicles are 80 kmph and 60 kmph L2
respectively on a two-way traffic road. If the acceleration of the overtaking
vehicle is 0.80 m /s, calculate the safe overtaking sight distance. Sketch of the
overtaking zone with location of sign posts.

OR
A valley curve is formed by a descending gradient of 1 in 40 meeting with an L3
ascending gradient of 1 in 30. Design the length of valley curve for a design
speed of 100 kmph so as to fulfill both comfort conditions and head light sight
distance requirements. Assume rate of change of change of centrifugal
acceleration as 0.6 m/sec3 , reaction time 2.5 sec and coefficient of friction 0.35
What are the objectives of Traffic Volume studies? What are the methods of L1
presentation of Volume Data?

OR
Explain the significance of traffic studies. Briefly explain any four types of traffic L1
Studies

UNIT-III

Draw a sketch of flexible pavement cross section and show the component L2
parts. Enumerate the Functions and importance of each component of the
pavement

OR
A cement concrete pavement has a thickness of 26 cm and lane width of 3.5 m. L3
Design the tie bars Along the longitudinal joints using the data given below:
Allowable working stress in steel tie bars, Ss = 1250 kg/cm? Unit weight of CC,
W = 2400 kg/cm3 Maximum value of friction coefficient, f = 1.2 Allowable tensile
stress in deformed tie bar, Ss = 2000 kg/cm2 Allowable bond stress in deformed

bars, Sb = 24.6 kg/cm?2.

Discuss briefly about the functions of different components of permanent way. L2

What are the advantages and disadvantages of concrete sleepers L1
OR

Define creep in the rails. Explain various causes of creep. L2

What are the requirements of good ballast L1

[ONIT-V]
Compute the maximum permissible speed for the following data on a curve of L3
high speed B.G for the following data. Degree of curve = 1.20, Amount of super
elevation = 8 cm, Length of transition curve = 150 m, Maximum sanctioned
speed likely to be 135 kmph.

What is grade compensation in railway track design? Why is it necessary to L1
provide grade compensation?
OR
Discuss briefly the purpose for which railway stations are provided 1.2

b) Discuss briefly about various components of turnouts. L2

12M

12M

12M

12M

12M

12M

6M
6M

6M
6M

6M

6M

6M
6M
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Q.P. Code: 19EE(0213

Time: 3 Hours

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech I1I Year I Semester Supplementary Examinations July-2022

ELECTRICAL MEASUREMENTS
(EEE)

Answer one question from each unit (5x12 = 60 Marks)

Explain the construction and working of permanent magnet moving coil
instruments.

A moving coil instrument gives a full -scale deflection of 10mA when the
potential across its terminals is 100mV. Calculate shunt resistance for a full -
scale deflection corresponding to 100 A.

OR
Derive an expression for the Deflecting torque in MI type instruments
List the advantages & disadvantages of MI type instruments
UNIT-II

Draw the circuit of a Kelvin's double bridge used for measurement of low
resistances. Derive the condition for balance.
Explain classification of resistances.
OR

Explain how Wien's bridge can be used for experimental determination of
frequency. Derive the expression for frequency in terms of bridge
parameters.

NIT-IIT

A single phase kilo watt hour meter makes 500 revolutions per kilo watt
hour. It is found on testing as making 40 revolutions in 58.1 seconds at 5KW
full load. Find the percentage error
Derive the torque equation for electro dynamo meter type wattmeter.

OR
- Explain with a neat sketch the construction and working of a single-phase

Dynamometer type Wattmeter.

What are the parameters to be considered in selecting a transducer for a
particular application?
Describe the working principle of thermocouples
OR
what is a transducer? Explain classification of transducers

Describe the principle and operation of capacitive transducer for angular

displacement measurement

Describe briefly how the following measurements can be made with the use
of CRO (i) Frequency. (ii) Phase angle. (iii) voltage.
OR
How do you measure leakage factor using Flux meter.
compare flux meter and Ballistic Galvanometer

R19

Max. Marks: 60

Ll

L3

L3
s

L4
L2

L2,
L4

L4

L2

El

Ll
L1

12

L1
L2

6M

6M

6M
6M

6M

6M

12M

6M

6M

12M

6M

6M

6M
6M

12M

6M
6M




Q.P. Code: 19EC0416

10

Time: 3 Hours

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech III Year I Semester Supplementary Examinations July-2022

ELECTRONIC MEASUREMENTS AND INSTRUMENTATION
(ELECTRONICS & COMMUNICATION ENGINEERING)

Answer one question from each unit (5 x 12 = 60 Marks)

Explain different types of errors that occur in measurements
Derive the Series Type Ohm meter and explain its functionality

OR
Explain about Differential type voltmeter
An Ammeter reads 8.3A and the true value of the current is 8.5A.
Determine The absolute error and Relative Percentage Error?

Discuss various important features of CRT
Explain the dual beam oscilloscope with a neat block diagram
OR
Explain various types of CRO probes
How the frequency can be measured using a Lissajous method. Explain

with diagrams
Draw the circuit diagram of a spectrum analyzer, and explain its working
strategy
List the application of wave analyzers

OR
Draw the block diagram of a function generator and explain its operation
With the help of a neat sketch, explain the working of any one of wave

analyzer

List the applications and limitations of a Wheatstone bridge
Derive the expression for Wein Bridge
OR
Label the functionality of a bridge. Derive & explain the Anderson’s bridge
with a neat sketch
Describe the operation of the Wheatstone bridge and derive the expression

for DC resistance

Describe the operation of i) Resistive transducers ii) Capacitive transducers
and iii) Inductive transducers

Explain any one of transducer to measure the displacement
OR
Explain the operation of thermocouples and thermistors

Draw the diagram of Resistance Thermometer &explain briefly

Max. Marks: 60

L2

b

L2

L1

L3
L2

L3

L2

6M
6M

6M
6M

6M
6M

6M
6M

6M

6M

6M
6M

6M
6M

6M

6M

6M

6M

6M
6M
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Q.P. Code: 19CS0518

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

B.Tech IIT Year I Semester Supplementary Examinations July-2022

Time: 3 Hours

a)
b)

a)

(AUTONOMOUS)

SOFTWARE E NGINEERING

(CSE)

Max. Marks: 60
Answer one question from each unit (5x12 = 60 Marks)

Define software and Describe the characteristics of software.

OR

Define the term Software Engineering - A Layered Technology

List out general principles of software engineerin

o
5

What is Use-case? Why is it used? How does it help in analyzing the
requirements? Explain with an example.

OR

List number of problems encountered in Elicitation? Explain.

How to assess alternate Architectural design.
Identify Architectural patterns.

OR

What is software architecture ? Describe in detail different types of software
architectural styles with illustrations.

Compare Content architecture and WebApp architecture.

OR

Give detailed notes on WebApp Desii Quality and their goals.

What is Testing? Explain a number of software testin

sketch.

OR

g strategies with neat

Explain about the importance of test strategies in conventional software.

L2

L1
L4

L1

L4

L1
L3

L2

IS

L2

L5

12M

04M
08M

12M

12M

06M
06M

12M




Q.P. Code: 19EE0213 R19
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech III Year I Semester Supplementary Examinations July-2022
ELECTRICAL MEASUREMENTS
(EEE)

Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

1 a) Explain the construction and working of permanent magnet moving coil L
instruments.
b) A moving coil instrument gives a full -scale deflection of 10mA when the L3
potential across its terminals is 100mV. Calculate shunt resistance for a full -
scale deflection corresponding to 100 A.

OR
2 a) Derive an expression for the Deflecting torque in MI type instruments L3
{, b) Listthe advantages & disadvantages of MI type instruments Ed

3 a) Draw the circuit of a Kelvin’s double bridge used for measurement of low L4
resistances. Derive the condition for balance.

b) Explain classification of resistances. L2
OR
4 Explain how Wien's bridge can be used for experimental determination of L2,
frequency. Derive the expression for frequency in terms of bridge L4
parameters.

5 a) A single phase kilo watt hour meter makes 500 revolutions per kilo watt L4
hour. It is found on testing as making 40 revolutions in 58.1 seconds at 5KW
full load. Find the percentage error

b) Derive the torque equation for electro dynamo meter type wattmeter. L4
/ OR
‘g . Explain with a neat sketch the construction and working of a single-phase L2

Dynamometer type Wattmeter.

a) What are the parameters to be considered in selecting a transducer for a L1

& particular application?
b) Describéthe working principle of thermocouples L2
OR
8 a) whatisa transducer? Explain classification of transducers L1
b) Describe the principle and operation of capacitive transducer for angular L1
displacement measurement
UNIT-
9 Describe briefly how the following measurements can be made with the dee 12
of CRO (i) Frequency. (ii) Phase angle. (iii) voltage.
OR
10 a) How do you measure leakage factor using Flux meter. L1

b) compare flux meter and Ballistic Galvanometer 12

6M

6M

6M
6M

6M

6M

12M

6M

6M

12M

6M

6M

6M
6M

12M

6M
6M




Q.P. Code: 19CE0129 R19

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester Supplementary Examinations July / August 2022
ELEMENTS OF ROAD TRAFFIC SAFETY
(Common to ME, ECE & CSE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

1 Give a detailed discussion about Accident situation in India with past L2

accident data?
OR

2 Apply your knowledge as a graduate and how u suggests various L3
measures to be considered in view of controlling the Road Accidents.

3 Analyze various aspects which are indicated in regulation of vehicles L4
OR
1 Briefly explain the various traffic regulatory measures that should be L2

considered for On-street Parking

5 What do you know about Informatory signs and Route marker signs with L3
neat sketch?
OR

6 Give a brief discussion about Location, Height & Maintenance of traffic 1[4

signing.
UNIT-

How Amber period, Red/ Amber period and Intergreen period is LI
determined in various countries practices
OR

8 a) Whatdo you meant by Area traffic control and give the objectives of it L1
b) Give a brief discussion about Delai at siinalized intersections L2

9 What are the functions of road markings & List out all 14 various types of L1
road markings?
OR

10 Briefly explain about various types of Lamps used in street lighting in view L2
of road traffic safety at night time on roads

12M

12M

12M

12M

12M

12M

12M

6M
6M

12M

12M




Q.P. Code: 19ME0321

10

B.Tech III Year I Semester Supplementary Examinations

Time: 3 Hours

a)
b)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

NON CONVENTIONAL ENERGY RESOURCES
(Common to CE, EEE & ECE)

Answer one question from each unit (5 x12 = 60 Marks)

Define conventional and non-conventional Energy with Examples.
How do you classify the energy sources and brief them.
OR

[lustrate the working processes of thermal power plant with a neat

sketch.

Describe briefly the working principles of Hydro Electric energy.
_

List various the applications of solar PV cell.
[lustrate the functions of various components in flat plate collectors and
also explain the working principle of flat plate collector.
OR
Explain the working of Pyrheliometer with a neat sketch. Applications.

Describe with a neat sketch workin g of a solar water heating system.
UNIT-I1]

Discuss the importance of measuring wind speed and name its measuring
instruments.

Describe the functions of components of wind energy systems.
OR

Differentiate between HAWT and VAWT.
Discuss about Savonius wind turbine with neat sketch. Write applications.
What is biomass and why it is called as renewable energy?
Name various strokers used for the combustion of biomass and explain
anyone with a neat figure.

OR
What is meant by fermentation, aerobic, anaerobic digestion? Explain.

Explicate various steps involved in the i roduction of Ethanol.

What is the geothermal energy? Explain its extraction process.
Explain Geothermal binary cycle power plant with neat diagram.
OR
Explain the working of fuel cell and their applications
What is tide? Explain the basic components of a tidal power plant and
State their merits and demerits,

R19

July / August- 2022

Max. Marks: 60

L1

12

L2

L3
L2

L2

L2

£3

L4
E3

) 1
L3

L1
2

L3
L2

6M
6M

6M

6M

6M
6M

6M
6M

6M

6M

6M
6M

6M
6M

6M
6M

6M
6M

6M
6M




Q.P. Code: 18HS0813 R1§

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech IV Year I Semester (R18) Supplementary Examinations July 2022
MANAGEMENT SCIENCE
(Common to CSE & ECE)

Time: 3 hours Max.Marks: 60

PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(a) What is committee organization?
(b) Enumerate the ABC analysis.
(c) Discuss Placement and Employee Induction.
(d) What are the stages of strategy formulation and implementation?
(e) Briefly explain about MIS.
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
. Nature and Importance of Management - Explain.
b. Mention the elements of Scientific Management
OR
3 Define and explain in the management and its various functions.
UNIT - II
4. Make a comparative analysis of the features of Different methods of
production.

)
jat]

OR
5. Explain the concept of work study and its types
UNIT - III
6. Explain and evaluate the process of recruitment and employee selection

OR
7. Briefly Discuss the methods of Performance Appraisal.
UNIT - IV
8. Examine the concept of corporate planning. Discuss the essential steps in
corporate planning through a flow chart.
OR
9. Explain and illustrate what you understand by network analysis. How would
you compare PERT with CPM?
UNIT-V
10. Explain the enterprise resource planning and its utilities in management.
OR
1 What is Bench Marking and how does an organization derive benefit from such
initiatives?

L1
14
L2
L1
L2

L2
L3

L2

L4

L2

L4

L4

2M
M
2M
M
2M

10M
10M

10M

10M
10M

10M

10M




Q.P. Code: 18CS0527 R18

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech IV Year I Semester (R18) Supplementary Examinations July-2022
MOBILE APPLICATION DEVELOPMENT

(CSE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)

1. Answer the following; (5 X 2 = 10 Marks)
(a) Whatis an Android? 11 2M
(b) Whatis Layout? L1 2M
() What are the Views in Android? L1 2M
(d) Whatis SQLite database? L1 2M
(¢) Recall the use of SMS? L1 2M

Name the permissions you need to declare in your AndroidManifest.xml
file for sending and receiving SMS messages.

PART-B
(Answer all (ive units, 5 x 10 =50 Marks)
UNIT -1
2. (a) How to create a First Android Project? L1 5M
(b) Explain it by defining XML and Action code through Java with a neat L2 5M
example
OR
3. Create simple registration form, pass and display those all entered datain L1 10M
another activity using intent.
UNIT - II
4. (a) How to create User Interface Programmatically. L3 10M
(b) Develop relevant code for the above.
OR
5. (a) Explain Event handing. L3 10M
(b) Develop a program to display the Messages through Toast?
UNIT - III
6. Demonstrate Progress Bar control with an example program? L5 10M
OR
7 Explain Image Views to display pictures in Android Mobile. L5 10M
UNIT -1V
8. Develop an android application for login & registration using SQLite L3 1oM
database connectivity.
OR
9. (a) Describe SQLite database? L5 10M
(b) How to provide database connection using SQLite database.
UNIT -V
10. Create a Simple Own Service to start and stop the service in Android? L3 10M

OR

He
e

L Lotz 2 H * .
ERpPTeSs oYY

Explain?




Q.P. Code: 18EC0440

Time: 3 hours

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech IV Year | Semester (R18) Supplementary Examinations July-2022
EMBEDDED SYSTEMS and IoT
(Electronics & Communication Engineering)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)

Max.Marks: 60

(a) State any four important characteristics of embedded systems. L1 2M
(b) List out the interfaces used in IoT. L1 2M
(c) Listout the communication protocols used for M2M local area networks. L1 2M
(d) List out the statements used in Python. L1 2M
() Whatis the use ol GPLO pins in a IoT device? L1 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) Distinguish between RISC and CISC design. L2 5M
(b) List various applications of embedded systems. L2 5M
OR
3 With a neat diagram, explain the design process of an embedded system. L1 10M
UNIT - II
4, With the help of neat diagrams, describe the levels of [oT with an example. L2 10M
OR
5. (a) With a neat sketch, explain the request-response communication model of [oT. L2 5M
(b) Compare Transmission protocol and user datagram protocol with diagram. L4 5M
UNIT - III
6. Describe how the environment can be more protected with the help of IoT 12 10M
technology in the following categories:
(i) Air pollution monitoring (ii) Noise pollution monitoring
(iii) Forest fire detection (iv) River flood detection
OR
A With the help of neat diagrams, explain the M2M system architecture. L2 10M
UNIT - IV
8. Explain the following data types of python with examples: L5 10M
(i) Tuples (ii) Dictionaries
OR
9. (a) Describe the principles of Object-Oriented Programming,. [4 5M
(b) Explain about the classes in Python with examples. 4 5M
UNIT -V
10. (a) With the help of neat sketch explain the basic building blocks of IoT device. L3 6M
(b) Justify how Raspberry Pi is different from a desktop computer. L5 4M
OR
11. (a) Design an automatic motion light system using Raspberry Pi and write a L6 5M
pythen-program-to-support theworking of that design
(b) Explain an IoT device & give some examples. L2 5M
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SIDDARTIIA INSTITUTE OF SCIENCE A N TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech IV Year I Semester (R18) Supplementary Examinations July-2022
AUTOMOBILE ENGINEERING
(Mechanical Engineering)

Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
L. Answer the following; (5 X 2 = 10 Marks)
(@) Definean Automobile. L1 2M
(b) Write the functions of Fuel supply system. L1 2M
(c) Listout the types of Ignition system. L1 2M
(d) What arc the main components of Transmission system? L1 2M
(e) Name the Types of Steering Mechanisms. L1 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) Listoutthe components of I.C engine and its function. L1 ©SM
(b) Show front and rear wheel drive layout in detail with relevant sketch. L1 5M
OR
B Explain the following four design variants available in Direct Injection type CI L4 10M

combustion chambers with neat sketches. i) Shallow depth chamber ii)
Hemispherical chamber iii) Cylindrical chamber iv) Toroidal chamber.

UNIT - 11
4. Explain the working of supercharger and turbo charger with a neat sketch. L2 10M
OR
9: Ixplain the working of three-way catalytic converter with a neat sketch. L3 10M
UNIT - 111
6. Explain briefly about battery coil ignition system with a suitable sketch. L4 10M
OR
7. (a) Explain the grading phenomena of Lubricant. L4 5M
(b) What s the solenoid switch in automobiles? state the necessity of it. L5 5M
UNIT -1V
8. What are the different types gear boxes used in an automobile? Explain the L5 10M
synchromesh gear box with neat sketch.
OR
9. Sketch and discuss in detail about the torque converter. L3 10M
UNIT -V
10. Explain with the help of a neat layout about Ackerman steering gear L3 10M
Mechanism.
OR
11. Answer all the following questions L4 10M
Define ABS & Define EBS.

Discliss about I Tactiort CoITtr ot
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(AUTONOMOUS)

B.Tech IV Year I Semester (R18) Supplementary Examinations July-2022
ARTIFICIAL INTELLIGENCE & MACHINE LEARNING

(CSE)

Time: 3 hours

10.

11.

e
(@]

2

T o

—

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
List out the Role of Intelligent Agents.
What is GGP?
Write the difference between Supervised and Unsupervised learning.
Define the term . Data visualization.
What is generalisation.
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Describe the problem solving techniques to Typical Al problems.
Explain about a typical agent system.

OR
Explain how a Tree , B-Tree and Al algorithms solves a problem.
UNIT - 11
Elaborate the role of Activation function.
OR
Describe how backtracking search is used to solve a problem.
UNIT - III
write in detail about Multilayer perceptron.
OR
How will you train a data in feed forward neural network.
UNIT -1V
Explain with suitable example for LDA.
OR
With example explain patterns in heterogeneous cross-sectional data.
UNIT -V
With example explain the non-parametric density estimation.
OR

Elaborate the condensed nearest neighbour method.

Max.Marks: 60

L2
L2
L2
L1
L2

L2
E2

L1

L4

L2

L3

L4

L3

J

L4

2M
2M
M
M
2M

5M
5M

10M

10M

10M

10M

10M

10M

10M

10M

10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech IV Year I Semester (R18) Supplementary Examinations July-2022
VLSI DESIGN
(ECE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
Y, Answer the following; (53 X2 =10 Marks)
(a) Define Transconductance and Output Conductance L1 2M
(b) Illustrate nMOS transistor in \-based design rule L1 2M
(c) Define Routing in the geometrical layouts L1 2M
(d) Define Parity generator logic circuits L1 2M
(e) Differentiate FPGA and CPLD L1 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2 T[llustrate the steps involved in AMOS fabrication process with neat sketches L2 10M
OR
3 Determine the relationship between lss & Vi in non-saturated and saturatedregion. L2 10M
UNIT - 11
4. a) Construct the stick diagram for 2-input CMOS XOR gate L3 5M
b) Ilustrate A-design rules for contact cuts 12 5M
OR
5. a) Sketch thelayout diagram for 2-input CMOS NAND gate L3 5M
b) Explain about Stick diagram with one example L2 5M
UNIT - III
6. Explain the following with an example L2 10M
(i) Domino CMOS logic. (ii) NORA logic.
OR
7. Explain the following terms 2 10M
(i) Floor planning
(i1) Placement
(iii) Routing
UNIT - IV
8. a) Construct and explain the circuit diagram of 3-bit LFSR with example L3 5M
b) Construct and explain the Johnson counter 13 5M
OR

9. Design an Arithmetic and Logic Unit circuit with four functions usingmultiplexers and L6 10M
explain its operation.

UNIT-V
10. Define BILBO? Draw the logic diagram of BILBO & explain its operation in different 12 10M
modes?
OR
11. a) Explain in detail about standard cell design with suitable diagrams. L3 5M
b) Givealogic circuit example in which stuck-at-1 fault and stuck-at-0 faultare L2 5M

indistinguishable
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Q.P. Code: 18EE0227 @
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech IV Year I Semester (R18) Supplementary Examinations July-2022
POWER QUALITY
(EEE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
L. Answer the following; (5 X 2 = 10 Marks)
(a) Define coupling L1 2M
(b) What is the frequency range and duration in medium frequency transient? L1 2M
(c)  Whatis ment by TDD? L1 2M
(d) Why the flicker meter is need? L1 2M
(e) What is Static Current Limiter? L1 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) Whatare the types of wave form distortion? L1 5M
(b) Write a short note on voltage imbalance L2 5M
OR
3. Draw and explain the CBEMA curve L1 10M
UNIT - II
4. Mention the categories and characteristics of electromagnetic phenomena in L3 10M
power systems?
OR
B Classify the principles of regulating the voltage L2 10M
UNIT - III
6. Explain the brief description about the harmonic distortion evaluation L2 10M
OR
7. What are the harmonics sources from commercial loads? L1 10M
UNIT - IV
8. Explain about the power quality bench marking. L1 10M
OR
9 Explain the categories of instruments to consider for harmonic analysis L1 10M
UNIT -V
10. Draw and explain the schematic diagram of a right shunt UPQC? L3 10M
OR

In, Draw and explain the schematic diagram Dynamic Voltage Restorer? L3 10M




Q.P. Code: 18CS0538
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech IV Year | Semester (R18) Supplementary Examinations July-2022
BIG DATA ANALYTICS
(CSE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (53 X 2=10 Marks)
(a) Summarize the data types for Big data L2 2M
(b) Distinguish between horizontal file format and vertical File format L2 2M
(c) What is Shuffling in MapReduce?. L3 2M
(d) Compare any two execution modes of pig. L2 2M
(e) Critique about the advantages of Hive query language L5 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) Examine the different types of digital data with examples? L4 5SM
(b) Discuss Big Data in terms of three dimensions, volume, variety and velocity. L2 5M
OR
3. (a) Discriminate the Big Data in Healthcare, Trasportation & Medicine. L5 S5M
(b) Why business are using big data for competitive advantage? L4 5SM
UNIT-11
4. Determine the basic commands in Hadoop command line interface. L3 10M
OR
5. (a) Discuss about the data ingest operation using sqoop and flume L1 5M
(b) Differentiate the compression and serialization operation in Hadoop 1/O. L2 5M
UNIT - 111
6. (a) Examine the different types of Job Scheduling process in Map Reduce. L3 S5M
(b) Describe the Default MapReduce Job. L3 SM
OR
T. Categorize the different types of input formats in MapReduce. L4 10M
UNIT - IV
8. (a) Compare the PIG with Databases with an Example L5 5M
(b) Evaluate the Expressions and types in Pig Latin. L4 5M
OR
9. (a) Discriminate the Structures, Statements in Pig Latin L4 5M
(b) Evaluate Data Processing Operators in Pig Latin. L5 5SM
UNIT -V
10. (a) Deduce the various services offered by Hive. L4 SM
(b) Examine the Characteristics of HBase L4 SM
OR

Jill Explain with a neat diagram the architecture of Hbase. L2 10M




Q.P. Code: 18EC0434

Time: 3 hours

10.

11.

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech IV Year I Semester (R18) Supplementary Examinations July 2022
DIGITAL IMAGE PROCESSING

Ris

(ECE)
Max.Marks: 60
PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
Recall the neighbors of a pixel using suitable representation. L1 2M
What is the main difference between DCT and DFT ? L1 2M
Compare Pseudo color image processing and full color image processing. L1 2M
What are the advantages of a Wiener filter over an inverse filter? L1 2M
Define compression ratio. L1 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
(@) Summarize the concepts of image modeling with relevant expressions, L1 5M
(b) Explain the various types of digital image Tepresentations with examples L2 5M
OR
Explain the important terms related to Imaging Geometry with suitable L1 10M
expressions.
UNIT - 11
Apply 2D - Discrete Fourier Transform for the following image L3 10M
1L T 1 1
1 L 1 1
Ama)=ls o 3 1
1111
OR
Explain in brief about Hoteling Transform L3 10M
UNIT - 111
Explain the histogram equalization Operation in image enhancement with L5 10M
necessary expressions,
OR
Interpret the C.1.E. Color Space and mention its significance. L5 10M
UNIT - IV
Discuss the algebraic approach of constrained Least Square filter restoration. L3 10M
OR
Explain the procedure for image segmentation based on L5 10M
()Region growing (ii) region splitting & merging
UNIT -V
Explain the following L3 10M
() Fast Wavelet Transforms (i) Wavelet packets
OR
Derive the Code word, Average Length (L), Entropy (H(s)), Efficiency of the 14 10M

word “COMMITTEE” using binary Huffman coding.
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech IV Year I Semester (R18) Supplementary Examinations July-2022
MECHATRONICS & ROBOTICS
(MECH)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
What is sensor and transducer?
List any two applications of hydraulic and pneumatic system.

List out the types of grippers.
What is path planning?
What is robot program language?
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1

Define Mechatronics with elaborate definition. And give examples of
mechatronics system.
Explain the various components in mechatronics system with neat sketch.
OR
[llustrate the various static characteristics of sensors. What is the function of
sensor? How do you classify the sensors?
UNIT - II
Define actuator. Actuators plays a primary role in mechatronics system
explains it. _
OR
Describe the basic components of both pneumatic system and hydraulic with
neat diagram.
UNIT - 111
How does micro controller work? What are the elements of a microcontroller

OR
List the different types of joints used in robots with neat sketch. Also make a
note on FLD (Function Line Diagram)
UNIT - IV
Define robot. With neat sketch explain the robot anatomy.
OR
Clearly explain with neat sketches the manipulator kinematics
UNIT -V
Write an elaborate note on motion commands of robots
OR
Elucidate various software packages in robot application in detail.

R1§

L1
L1
il
Ll
L1

L1

B |

E3

L3

L5

3

13

L4

Max.Marks: 60

M
2M
M
M

5M

5M

10M

10M

10M

10M

10M

10M

10M

10M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech IV Year I Semester (R18) Supplementary Examinations July-2022
HVDC AND FACTS
(EEE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(a) List the disadvantages of AC Transmission over long L1 2M
(b) Explain the generation of harmonics in HVDC system? L1 2M
(c) What are the factors which limit the loading capabilities of transmission line L1 2M
explain?
(d) Define various limits which define the capability TCSC. L1 2M
(e) Whatis the need of UPFC? L1 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) Explain the analysis of 6 pulse converter with and without overlap. L2 5M
(b) Explain the different converter configuration commonly employed for L2 5M
HVDC converter and bring out their merits and de-merits.
OR
B Explain clearly about Typical Layout of Converter Station and their L2 10M
functions with neat sketch.
UNIT - 11
4. [llustrate the role of smoothing reactor in a DC link L3 10M
OR
3. Draw the Equivalent Circuit of bipolar DC Link. L3 10M
UNIT - III
6. Recommend FACTS devices in reactive power compensation and to Reduce L5 10M
Losses.
OR
Ko Classify the types of FACTS devices and explain in detail. L5 10M
UNIT - IV
8. Draw the basic circuit of STATCOM. L3 10M
OR
9. Compare and contrast STATCOM and SVC. L2 10M
UNIT -V
10. Ilustrate the salient features of UPFC L3 10M
OR
11. Explain the power flow control and oscillation damping in the two area L4 10M

system using UPFC
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech IV Year I Semester (R18) Supplementary Examinations July-2022
DATA SCIENCE
(CSE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
L. Answer the following; (5 X 2 = 10 Marks)
(a) What is exploratory analysis? L1 2M
(b) Define Hypothesis Testing L1 2M
(c) Relate Ridge regression and Lasso regression L1 2M
(d) State the advantage of using PAM. L1 2M
(e) What is text analytics? L1 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. a) Expand and Distinguish between NOIR attributes L1 5M
b) Describe the Array function in R L2 5M
OR
3. Examine the functions used for Visualizing a Single Variable L1 10M
UNIT - 11
4. Suppose everyone who visits a retail website gets one promotional offer or no L3 10M
promotion at all. We want to see if making a promotional offer makes a
difference. What statistical method would you recommend for this analysis?
OR
5. State and Explain Apriori Algorithm with an example. L3 10M
UNIT - II1
6. Justify the usage of Linear and Logistic regression and Illustrate the Logistic L5 10M
regression model.
OR
7. Consider the given confusion Matrix of Naive Bayes from the Bank Marketing L5 10M
Dataset
Predicted Class
Subscribed | Not Subscribed Total
Subscribed 3 8 11
Actual Class Not Subscribed 2 87 89
Total 5 95 100
Calculate the following Performance metrics.
a) Accuracy b) TPR ¢)FPR d) FNR e) Precision
UNIT - IV
8. Illustrate the method to find k clusters from a collection of M objects with n L3 10M
attributes
OR
9. Correlate ARMA and ARIMA Models L5 10M
UNIT -V
10. Explain the three important steps of the text analysis L3 10M
OR
11. What is meant by sentiment analysis and illustrate the methods used for 14 10M

sentiment analysis
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech IV Year I Semester (R18) Supplementary Examinations July-2022
FIBER OPTIC COMMUNICATIONS

(ECE)
Max.Marks: 60
PART-A
(Compulsory Questions)
Answer the following; (5 X 2 =10 Marks)
Write about the Snell’s law L1 2M
Define Information Capacity L1 2M
Sketch the Emitter LED circuit. L1 2M
Sketch the schematic representation of a PIN photodiode circuit L1 2M
List the differences between the optical multiplexing and de-multiplexing L1 2M
techniques.
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain the Elements of Optical Communication System with neat sketch. L1 10M
OR
Compare step index & graded index fiber. L2 5M
Describe the multimode Graded Index fiber with neat sketch. L1 5M
UNIT - 11
Demonstrate any two types of Losses in Optical Fiber Communication 12 10M
System.
OR
Compute the expression for total dispersion in single mode fiber L3 5M
Explain the refractive index profile optimizes the design in a single mode 12 5M
fiber?
UNIT - 111
Explain in detail the various Characteristics of Light Source L2 5M
Describe about Temperature effects of Laser L1 5M
OR
Explain about quantum efficiency and LED power. L2 5M
Demonstrate on direct and indirect band gap materials in detail. L2 5M
UNIT - IV
Explain about avalanche multiplication noise in APD diode. L2 5M
Compare various photo detectors. L2 5M
OR
Explain about the probability of error in detail. L2 5M
Explain the working principle of depletion layer photocurrent with diagram. L2 5M
UNIT -V
Explain optical amplifier and its applications. L2 10M
OR
Describe the bandwidth budget. 12 6M
Describe about power budget with examples L2 4M
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech I'V Year | Semester (R18) Supplementary Examinations July-2022
MODERN MACHINING METHODS
(MECH)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)

Write down any two applications of AJM Machining,
List the advantages of EDG Process.
What are the important requirements of Chemical machining Process?
Define the Principle of Laser Beam Machining (LBM).
Define Nano machining.

PART-B

(Answer all five units, 5 x 10 =50 Marks)
UNIT -1

(a) Explain the basic differences Between Traditional And Non- Traditional Manufacturing

Processes are used.

(b) What are the advantages and disadvantages of water jet machining (WIM)?

OR
What are the applications, advantages and disadvantages of Abrasive Jet Machining
(AIM)?
UNIT - 11
Explain the working principle, machining process of EDM (Electrical Discharge
machining) with neat sketch.
OR
Give a brief note on advantages and limitations of Electrical Discharge Grinding (EDG)
process.
UNIT - III
Explain the working principle of Electro Chemical Grinding (ECG) process with a
schematic diagram and specify the parameters.
OR
Write the advantages, disadvantages and applications of Electro Chemical Honing
(ECH).
UNIT -1V
Write the advantages, disadvantages Laser Beam Machining (LBM).
OR
Draw the schematic layout of Plasma Arc Machining (PAM) set up and explain the
major elements in it.
UNIT -V
Classify the Conventional Micro machining Processes and Non-Conventional Micro
machining Processes.
OR
Explain about the Micro-Nano Fabrication Techniques.
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech IV Year I Semester (R18) Supplementary Examinations July-2022
ENTREPRENEURSHIP DEVELOPMENT
(Common to ECE, CSE, CIVIL & MECH)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
Who is Entrepreneur
Define MSME
What is intellectual Property
Letter of credit
Project appraisal
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain Functions of Entrepreneurship
OR
Give brief explanation about Rural and Urban Entrepreneurship
UNIT - 11
How are MSMEs helpful to develop Economic Development
OR
List out the advantages and disadvantages of Partnership business
UNIT - 111
Develop the consequence of Invention in Entrepreneurship
OR
Explain intellectual property and its importance?
UNIT -1V
Entrepreneurship development program is the process of grooming
entrepreneurs - Elucidate.
OR
How entrepreneurship development programs are helpful to an entrepreneur
explain?
UNIT -V
Explain the steps involved in the preparation of project feasibility report
OR
How does Project management help the entrepreneur in entrepreneurship?
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SOFTWARE DEVELOPMENT & TESTING
(Common to ECE, EEE & MECH)

Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(a) Explain the software engineering layers. L1 2M
(b) Discuss three types of requirements. L1 2M
() Whatare the three golden rules in interface design? L1 2M
(d) Define white box testing? L1 2M
(¢) Compare between test plan and test design? L1 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. a How Framework activities help to solve a problem? L2 5M
b  Discuss about Extreme Programming (XP)? L2 5M
OR
3. a Discuss in brief about Unified Process Model with neat diagram. L1 5M
b  Explain in detail about incremental model? L2 5M
UNIT - II
4 a Listvarious analysis rules of thumb in requirement analysis? L3 5M
b  Describe Quality attributes of Design Process? L2 5M
OR
5. a Justify the Concept of Design process. L3 5M
b Whatis software Architecture? Mention what are the Architectural patterns. L1 5M
UNIT - 111
6. a  Discuss user interface analysis L2 5M
b  Manipulate various steps of Interface Design.vvv L3 5M
OR
e @ Define web app, and discuss about web app design. L1 5M
b Describe the steps involved in Web App Interface Design. L6 5M
UNIT -1V
8. a  Explain about the importance of test strategies in conven tional software? L3 5M
b  Discuss the process of art of debugging? L3 5M
OR
9. a  Discuss about levels of software testing? L5 5M
b  Discuss Alpha and Beta testing? L2 5M
UNIT -V
10. a  Explain advantages and disadvantages of software quality assurance? L3 5M
b  How to specify the test cases? L2 5M
OR
11. a List out the testing principles in software? 14 5M

b  Elaborate test case design techniques? L3 5M




